Ay
A

3| X9 Angular Range E|O|E AtO|= Table Size W.D ¥4l Model Number

30 SHO03B-DT G-008page
| B-DM G-008page
I SHO4B-RT G-010page

G-010page

“- G-012, G-014page

G-012, G-014page

—- 018,600, G 2zpae

020, 6-022page

— STOSA'B | | G018,GOpage

page

—- COl6page
T

7
o m e e
I e R R
-

120 SHI3ART | | G-036page
|

£HUstE (N) Horizontal Load Capacity (N) 10 15 20 30 50 70

 ovwo | 20 SHIART | | Gospage |
|

100

AQH (1L Q) AH|[O|X]|
Manual Swivel (Tilt) Stage

SH - ST A|I2|=X
SH « ST Series

-
B

200

¢



gt
Industrial

dgs
Experi-
mental

XeXY
X+ XY

NN

=™
Rotation

NN

-
Rotation

29|
(TU2)
Swivel
(Tilt)

HIARIHUE
26|0[x|
X8

2E
HESY
Motor
Controller

cato|y
gfA
Driver
Box

oj=2|
Aol
Applica-

tion

2
Cajoly

MotorDriver

ZEFH0|E
Motor
Cable

sg
Appendix

G-002

AL E HE= ity
Understanding Specifications

& A9IR(1L|R) AH|O|X] 7HO[HA
Understanding Manual Swivel (Tilt) Stage

SHO7A-RT

Vacuum Lubricant Change Price

A E Specifications M Description
4 SHOTART @ @Alo| FHelLict.
Model Number Kohzu's significant alphabetnumeric model numbers offer quick product insight.
oY g4 SHO7A-RT-R @ EA@ cht 0|22 Atk ALt
Mirror Model Number Mimor symmetry of standard stage... see pages G004~GOOT for various configurations and their specific model number extensions.
H|O|E Afo|= (3 2H|0|x| Hlo|ER2| 27| Lct.
Table Size b Table size refers to the stage's valid mounting table size.
70| 24 HYIRASJI0|E | @ AH|0|X|9| 7}0|E HrA|L|ct.
Guide Mechanism Cross-Roller Guide Type of guide mechanism used on this stage.
3 gl e ®3438 /IF0E 3212, 0j0|LAZ BABLIC,
Angular Range - Stage travel range in the positive and negative directions from it's centered or neutral position.
L EESSES 70mm=0.2mm ® HAMUHE HZeHFEMR. <ZAHEHY P-007H|0|X|
Work Distance T See "Kohzu Stage Inspection Standards" section, page P-007.
W S HAY ®0.05mm/+10° @HMNYES BEHFNR. ALY P-007H|0|X|
Rotation Center Error . - See "Kohzu Stage Inspection Standards" section, page P-007.
| A HA| 0.1°(HHL|0f) Elo|29| =3O =fol & 4 U= A AgRLct
Minimum Readout 0.1° (vernier) Minimum readout of Table is the smallest measurable value of motion.
o pably 1.53°/HS 131H @SS 13|H H2S mjo| Ae||0|x|o| ZAZIELct
Angular Motion 1.53°/Handle Revolution Angle of gradient per handle-wheel revolution.
DUE 8 000 arcsec/Nocm | © AAUHE SZHFAL. A P-00GHIOIX]
Moment Load Stiffness ’ | See"Kohzu Stage Inspection Standards" section, page P-006.
SHLSHE 49N (5kgf) @ AE{|0|X| SY0IA EF 2Hs et FTeiLc
Load Capacity (Horizontal) Maximum load capacity is for a horizontally orientated stage with load centered on top-plate.
Ha Fo/E &3 FE2 A2 U= MIYLcH
Material Aluminum Alloy | Material specification is for stage's main body components only.
o Al opzf 3 2| o] A3t FHA2|QjL|ct
Finish Clear-Matte Anodizing Surface finish type and color.
2 — ® ABel YL,
Weight - 1keg Stage weight includes all components depicted in product photograph.
T WS ® A2 El HF00[E2| @Al O] S EFULICE
Actuator Handle-Wheel Actuator model number and travel range.
M ¥85.000 @® EEHE2 7tAeL|ct
Price(JPY) ’ Catalog price in Japanese currency
2HE H|Z ¥24.000 ~ ) QHE H|2YL|ct. «<15H0|X|
Overhaul Price ’ Overhaul price in Japanese currency <16 page
g2\ A Dgh| ¥18.000 @®S202|A nzH|EYL|ch. «C-003nH0|X|
Clean Room Lubricant Change Price ’ Clean Room Lubricant change Price in Japanese currency. See page C-003
ZZae|A g ¥18.000 @®FZ02|A Dz H|EYL|ch. «C-003n0]X|

Vacuum Lubricant change Price in Japanese currency. See page C-003

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



710|E 4
Guide Mechanism Type

® 3I2AE2| J}0|E Cross-Roller Guide

IAZAER JI0|EY 90°9 B2 71X E2iyojlAlt HE ZHUME FHE JI0|E
SARILICEL(D--18X) E22)0|A2| Z2to|YH2 S ot 022|2 BWH F=Jt &1
ZEEZ 01YEof AFLICH FE S = 2702] E2{2|0|A AHO[o]| MZ CHEH| HiX| =0
USLICEL AH|0|X|7} 2E5E mHoll= E212{|0]A Ato2] of2{7i2] }IE ZRUCH7t SE017| wh2of|
HX|AlolA SEY uho| opErESHYX|0E Dt S0FEe| AH7F X m, SXA| 0|12{Fo| LAlist|
O{FELICE 3 IRAER 710|E= MYEOR StES XIHsh7| w20 = 710|E RxECt
20| Z&LICEL 0l IRAER JI0|E SAHCE HA =0 2ot 243} 52 BEE
SESIAGLICE Eot S2{2o|Act FEZYCY 2te| HAS HUSH 2ot =2 Z4E
SXIELICE

The cross-roller guide is a limited stroke linear and bending guide that consists of a roller race and rollers. The
roller race has 90 degree V-shape surface and it is harden and precisely polished. It is not only had a polished
precise surface but also precisely correct 90 degree. The cylindrical shaped rollers are inserted between two
roller races and they are aligned alternately. When the stage is moved, these rollers are rolling smoothly at the
same time with the same tension because the gap between roller race is correctly arranged and maintained for
the same distance. There is no slipping, no stopping due to the effective contact. As one of the feature, it has
highly rigid more than ball guide because it has a longer contact line.

® =EH|Y £210|= Dove-Tail Slide :
THHY 20| =2 FHEsHs 2719 HOZ AE ehieA ILICE(DR-2) DTt 0|5 THO|
£210|Fst7[of| RZ7} ZHAsHH, Atolo]| O|2E 0| S017t7| 024 PEYILICE ESH X|Hst=
HETO| HM SH5IE 2 5150l 2 AL &= ASLICH

Dove-Tail Slide is guide mechanism which is build from contiguous two face (Ref.
Fig.2). In other words, that of guide mechanism is built from fixed part and movement —
part only. That is efficient of dust reduction from the parts slit. In addition, this type of

stage have high load capacity and mechanical Shock, because supporttable touch
field is large.

HLj7| gl
Lead Mechanism
® & &8 Worm and Worm Wheel

———
HeEEo| A2 oIl 2 B W4 UAFLICH ZIHOR A2 E0| H K|, A
a2 olsh st 2Ui7|7H HsLC : - Wormwheet
It allows to produce strong power or torque with the worm and worm wheel 5*3 8
mechanism. As a result, it is decelerated but it can move precisely even when it has O/—Uﬁmﬂjrm—m—_la
a big load. _F;Jgg

£9l= *TEL:044-981-2131  FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

LA
Industrial

dyg
Experi-
mental

e
A8{0]x]

Manual
tage

X-XY
X+XY

|
Rotation

oo
2%

NN

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

catols
gtA
Driver Box

=2
#Ho|A
Application

2E
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-003



gt
Industrial

dgs
Experi-
mental

+55Y
2E|0|x]|
Manual

Stage

XeXY
X+ XY

NN

=™
Rotation

x%
2|2

NN

bS]
Rotation

29|
(L)
Swivel
(Tilt)

L2RIHE
26|0[x|
X8

Ll
HESY
Motor
Controller

cajol
gfA
Driver
Box

oj=a|
Aol
Applica-

tion

2§
Sajolu

MotorDriver

DEHoIZ
Motor
Cable

sg
Appendix

G-004

& A91¥(1L L) AE|O|X] 7to|HA
Understanding Manual Swivel (Tilt) Stage

EZERY, 0j32Y, =3
Standard & Mirror Symmetry Configurations

DHLlol @Hof w2t SY It 0to| I Z0|E{(STAIZ|X ALO|E FHAte| AR)E ZREHHSI0 F|Hsts D|22Y AHYOZ
FAHZE JhSELICh E3F 25 X8 AHOIX| = BE AH|O|X| 2t O]2] AH|O|X| ZRE ZhSELICH
Assemble multiple stages can be customized to meet specific application requirements at no additional cost.

(SHA|2|=) (SH Series)

BEY 02y
Standard Configuration Mirror Configuration

(STAI2|=) (ST Series)

EEY 0|2{%
Standard Configuration Mirror Configuration

ol

O

1117

BEEY ks
Standard Configuration Mirror Configuration

2o

Q

(TR

FI2E{ 0] AFZE ZH0| About the shaft length of counterbore

e S s AHOIX #HEAMH 0186t= IH2HEO ™ ‘ ™

MEZEZ0/E "Shaft Length ++ mm, 213 EIIBLICH (95780 9%) —— 7 o —

SIZEE0] 20l HF LA 323 220s 01218 )1} gt b/ - 4‘

BIOIA SHIE AZE 2010 EUICL(RETES QEF 4-for M3 screws 4-for M3 screws ;
Shaft Lentgh 3mm

The length of counterbore’s shaft for mounting is described “Shaft Length **mm” (Top figure, left) in catalog drawing.

If counterbore does not exist on mounting part, depth size of base will be shaft length size (Top fugure, right)

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



® 2= =8 Y3 2-Axes Stage Assembly Configurations

g4 Floj| -***o| FIHELICH

J ko

Assembly model has -
(SHA|2|=) (SH Series)

- M2ots
ﬂ ﬂ 'i\ sklppabzlse

$}§E$ MEEZE 25.’53
standard lower standard u upper standard assemble

-NRN_

sEEE  MRO0y  EEEY
standard lower mirrorupper standard assemble

ssD  AREE  BEZY
mirror lower standard upper standard assemble

_oh00y A%0/3 BEXH
mirror lower mirrorupper standard assemble

22| *TEL:044-981-2131  FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

at the end of model humber.

N N g
=T
3}1?25 HERZF DIEL’F.?J
standard lower standard upper reversed assemble

=l ILQJI,Jm ;:,llj
a

Oco o°o .‘g;@@é@

1IN I O

= ) &S
SHNRR

sEEE A0 OjRER
standard lower mirror upper reversed assemble

-RNR

dsola  u&EE oy
mirror lower standard upper reversed assemble

-RRR
i

sh=0l24 A0y oj2{=gt
mirror lower mirror upper reversed assemble

(¢}
O ©]

Mg
Industrial

x%
2%

NN

3
Rotation

AL
(2L2)
Swivel
(Tilt)

HaloIHE
Ag]0] x|
XY8

Tz
AH|0|X|
Vacuum
Stage

Ho{FA|
Control
Electronics

2
HEEY
Motor
Controller

catols
uA

Driver Box

0=z
#|0]
Application

2
Cajoliy
Motor
Driver

==
#Holg
Motor
Cable

CE
Appendix

A A2
Accessories

A2




& A91¥(1L L) AE|O|X] 7to|HA
Understanding Manual Swivel (Tilt) Stage

g
Industrial (STA' EI E) (ST Sel’ieS)

yus

e -NNN_

saEE  N5EE  BEEY
standard lower standard upper standard assemble

[

z "ﬁ :

QQ o )

3H - a o o )

Rotation i ° ks o
SIREE d4&018 BEZY

standard lower mirror upper  standard assemble

]

%%
T

]

N
]
o)

E3 s d—D: <

Rotation ° o )

e 2
""é‘,*fv‘-mn}«;m"h 1

A4
(zUe)
Swivel
(Tilt)

=
ol stz0l2 MaE
mirror lower  standard

= mzzm
upper standard assemble

|

Ll
HESY
Motor
Controller

> (o]
=E ~ e
s ]
Driver
Box

ojz2| :_R I? N»‘__

7 0[]
oplcs st=0|z H#Z003 =28
tion . .
mirror lower mirror upper standard assemble

2§
Eajolyy

MotorDriver

ZEjF 0|2

Motor E
Cable =] =
Appendix [I D E[ (o]

) o
l‘l,_:‘l’l‘

-NNR_

SEEE **é = oEzg
standard lower  standard upper reversed assemble

. 2o ,
[ % o° )
o - [
[ D0 ;0 4
o C
-NRR_
SHEEE H=012 oj2|=g
standard lower mirror upper reversed assemble

" -

=
=N

h
o
QC'
Q
0
—\
x|
e
puastt
@ |

E
=G
;

[H

7
N/
(=] 3
Q““r—v%)nﬂ#t‘-\l

stE0i  gaEE: opiEE
mirror lower  standard upper  reversed assemble

é

-RRR

st=0l A=008 o2 =g
mirror lower mirror upper reversed assemble

G-006 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



s4sEZ  yaEZ  @EEE
standard lower  standard upper standard assemble

(o]
o )
i o o
(0]
0° % b

ssEZ MmN @ERE
standard lower ~ mirrorupper  standard assemble

Ra
BT}

siaoll  yamz  mEAY
mirror lower  standard upper  standard assemble

;

sta0ja As0E  BEXE
mirror lower  mirrorupper  standard assemble

I
Ejo

=

(¢} <1
el e
o o N y I e
Oo co L

mal=s

£2|= *TEL:044-981-2131 7 FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

s&EE  N%EE  0EEg
standard lower standard upper reversed assemble

shaEE  HA0) ojEd
standard lower mirror upper reversed assemble

-RNR

szl asEE oz
mirror lower  standard upper  reversed assemble

stzole{  gzol o2z
mirror lower ~ mirrorupper  reversed assemble

O
o

3
N 1
p

Mg
Industrial

%%
3%

NN

3
Rotation

A
(mL2)
Swivel

(Tilt)

HaloIHE
Ag]0] x|
XY8

Tz
AH|0|X|
Vacuum
Stage

Hoi=x]
Control
Electronics

2
HEEY
Motor
Controller

catols
uA

Driver Box

0=z
#|0]
Application

g
Cajoly
Motor
Driver

==
#Holg
Motor
Cable

CE
Appendix




AARHE

System
Products

g
Industrial

s
Rotation

X+ XY
X+ XY

NN

o™
Rotation

A4
(ae)
Swivel
(Tilt)

dajelHE
AH|0|X|
XY

2
HESY
Motor
Controller

E2tolt
gfA
Driver
Box
=2
#old
Applica-

tion

2E
Eajoly
MotorDriver

ZEjFH0IZ

g
spection
System

=& 29[HW(AL|L) AE|O|X] / El|O]Z AO|= 30X 30
Manual Swivel (Tilt) Stages / Table Size 30 X 30

SHO3B-DT
SHO3B-DM

SHO3B-DS

@ SHO3B-DT 3 Depth 3mm @ SHO3B-DM ©3 Depth 2.5mm
4-M2 Depth 3mm 4-M2 Depth 3mm
4-M3 Depth 3mm
pth Clamp 06 4M3 Depth Smm Clamp 06
8| 5 B
S 30
: i % le@
a]|4 —— glglal 1 —¢
- B o | @ N
e e G 9% WS 08(%%)
- HE 0 8(FH) . et Handle @8 (Attachment)
o Handle ¢ 8 (Attachment) ol 13
e =
20
30 U}
— N z
| \_Rotation Center "\ Rotation Center
8 |
| 3
f : 0
= b
<t P '
-
- | KORZU @
a A = ©
4for M2 screws Lo iy )
013 Shaft Length 5.5mm
4for M2 screws
013 Shaft Length 5.5mm
@ SHO3B-DS
L J Clamp®6
e B
= == i- -1
(R —
8 2 B —
0o° | % HE ¢8(%%)
t — Handle ¢ 8 (Attachment)
w0
=]
L@, 3 |7
[ "\ Rotation Center
]
I
—
3 ‘
—
o™
Al

4for M2 screws
Shaft Length 5.5mm

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



s/ EEH Y £210|= [ EH&EE
Brass Body / Dove-Tail Slide / Worm and Worm Wheel

Yy
Model Number

EEEER 03B DTR
Mirror Model Number 32

El0|= Afo|=
Table Size

30mm % 30mm

EESNlle®

70| 4

Guide Mechanism

3 el
Angular Range

H3 cagA

+
Work Distance 30mm=0.Imm

SHHY s2o|=
Dove-Tail Slide

+10°

44mm=0.1mm

30mm=0.2mm

W 3 EE
Rotation Center Error

®0.1mm/+10°

®0.2mm/£10°

A& Al
Minimum Readout

0.1° (HU o)

0.1°(vernier)

oMzt 2.06°/#S 12|H
Angular Motion 2.06°/Handle Revolution

1.5°/E 13|1H
1.5°/Handle Revolution

2.06°/#S 12|H (DT)

1.5°/#S 13/ (DM)
2.06°/Handle Revolution (DT)
1.5°/Handle Revolution (DM)

ZHE 315
Moment Load Stiffness 33

1.22 arcsec/N-cm

2.45 arcsec/N+cm

LS
Load Capacity (Horizontal)

9.8N (1kgf)

HE
Material

s

Brass

o

Finish

24
Weight

S ==

Chromium Matte Plating

0.2kg

T
Actuator

S
Handle-Wheel

71 ¥45,000

Price(JPY)

¥90,000

U HIS 4 T

Overhaul Price

¥42,000 ~

Clean Room Lubricant Change Price #5

S22 mEH|

¥15,000

¥30,000

Vacuum Lubricant Change Price #6

#l

#2

%3

x4

#5

#6

ZZae|A ag|

SHO03B-DSi=, SHO3B-DT2f SHO3B-DMS| ZfeiL|ct.

Combination of SHO3B-DT and SH03B-DM form 2-axes swivel stage
model SHO3B-DS.

HEDY, 0/ 28, Zgol 2 ME G-004H|0|X|S EHZHFM L.

Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.

2914 AH|O|X| Chy|(EEE8)2| DRUE SIE2 & ZYYLch

Moment Stiffness of single Swivel stage is measured in Roll Direction.
QUE HIZ0|| R EH|= o) ZEALICE HAEH 22 15HOIX|S HEHFH|L.
Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.

S2U02|A A2 @AY B “-C"7F B&LIc HMet A2 C-003H0IX|IS
HEHFMIR.

Clean room lubricant model has “-C” at the end of model number.
Page C-003 for further information.

ZZo2|A A2 @AY Zoj| “-Vv'2t B&LICh ANE 22 C-003H0|X|IS
HEHFH L.

Vacuum lubricant model has “-V” at the end of model number. Page
C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

¥15,000

¥30,000

O dAMAM2[0 2= 0-001H|0|XIS & EHFMH K.
Refer to page 0-001 for information on accessory.

© Aol BAstAl= HEMNEE sHs eIt

AMtt AR FULE BAFHL.
We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

+53
AH|0| x|

Manual
tage

X-XY
X+XY

|
Rotation

x %
2%

NN

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-009



& AQIH(1L|2) AH|O|X] / HIO|Z AFO| = 40X 40
Manual Swivel (Tilt) Stages / Table Size 40 X40

LA

Industrial

uys

SHO04B-RT SH04B-RS
SH04B-RM

k]
Rotation ®4 Depth 4mm Clamp ®8

4-M3 Depth 4mm
R | 4-M3 Depth 3mm
Handle $©12
©
&

N

(9.5)

®©Xe}

40
0

X+ XY
X+ XY

(0.5)

_1_(_¢

t

—~

N

(=)

B —
RS
[o XN ®

20
.30
(105), 40

T\Rotation Center Rotation Center

- =1
Rotation

57

A4
(ae)
Swivel
(Tilt)

17

©
(]
XL
S
+H
]
o
-
17
,_‘
S
|

dajelHE
AH|0|x]| Shaft Length 3mm
XY

@ SHO4B-RM \&J 4-for M3 screws
=

=
AH|0|x|

™

~

- W |
—

Shaft Length 3mm

Vacuum
Stage

HO{EH|
Control
Electron-
1cs

(20)

2
HESY
Motor
Controller

Eajo|ey
gfA
Driver
Box

oj=2|
Aol

Applica- (10.5) 40 (20)
tion

Eg I#4 i
E3to
MotorDriver Rotation Center

ZEjFH0IZ

40

(10.5)

17

17

Accessories

@ SHO4BRS ° Shaft Length 3mm

HAA A
Inspection
SEC

G-010 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



gs /[ ARAER 710|E [ H&EE
Brass Body / Cross-Roller Guide / Worm and Worm Wheel

34 4B.R
Model Number .

o2 H4
Mirror Model Number 32

Elo]= Ato]=
Table Size

40mm X40mm

EESNlle®

70| g4

Guide Mechanism

3H He
Angular Range

3 fAagHA

+
Work Distance 40mm=+0.2mm

HY 32482 7p0|E
Cross-Roller Guide

+10°

5Tmm=0.2mm

40mm=0.4mm

3H 3 Y
Rotation Center Error

©0.05mm/£10°

®0.1mm/+10°

A EAl

Minimum Readout

0.1°(HL| o)

0.1°(vernier)

3|3z 1.34°/#S 12H
Angular Motion 1.34°/Handle Revolution

0.99°/3E 13
0.99°/Handle Revolution

1.34°/8S 1353 (RT)

0.99°/#1 5 1318 (RM)
1.34°/Handle Revolution (RT)
0.99°/Handle Revolution (RM)

SRIE &3
Moment Load Stiffness 33

0.41 arcsec/N-cm

1.22 arcsec/N-cm

SHUsHS
Load Capacity (Horizontal)

19.6N (2kgf)

XHE
Material

gs

Brass

ot
Finish

A
Weight

0.25kg

330
Chromium Matte Plating

0.5kg

7YY
Actuator

HE
Handle-Wheel

74
Price(JPY)

¥105,000

¥210,000

HE H|B x4
Overhaul Price

¥24,000 ~

¥48,000 ~

Saa2|A 2gh|

Clean Room Lubricant Change Price 35

¥18,000

¥36,000

FZoz2|A agH|
Vacuum Lubricant Change Price #6

¥18,000

¥36,000

#l

#2

%3

x4

#5

#6

SHO04B-RS+, SHO4B-RT2} SHO4B-RM2| Z&tgiL|ct.

Combination of SHO3B-DT and SH03B-DM form 2-axes swivel stage
model SHO3B-DS.

HEDY, 0/ 28, Zgol 2 ME G-004H|0|X|S EHZHFM L.

Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.

224 A|O|X| Chy|(BE8)2| RAUE 3IF2 S ZYYLIch

Moment Stiffness of single Swivel stage is measured in Roll Direction.
QUE HIZ0|| R EH|= o) ZEALICE HAEH 22 15HOIX|S HEHFH|L.
Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.

S202|A A2 FAY Zoj “-C"7t Bt A4 A2 C-003H0IX|S
HZHFAMIR.

Clean room lubricant model has “-C” at the end of model number.
Page C-003 for further information.

ZZo2|A A2 @AY Zoj| “-Vv'2t B&LICh ANE 22 C-003H0|X|IS
HEHFHIR.

Vacuum lubricant model has “-V” at the end of model number. Page
C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

O dAMAM2[0 2= 0-001H|0|XIS & EHFMH K.
Refer to page 0-001 for information on accessory.

© Aol BAstAl= HEMNEE sHs eIt

AMtt AR FULE BAFHL.
We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

+53
AH|0| x|

Manual
tage

X-XY
X+XY

|
Rotation

x %
2%

NN

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-011



& AQIH(1L|2) AH|O|X] / HIO|Z AFO| = 40X 40
Manual Swivel (Tilt) Stages / Table Size 40 X40

LA

Industrial

uys

£ o,
25

"(/1/’
7
oy

St

.

, ST04A-S1T ST04A-S1S
z STO4A-SIM
o

Rotation (0.5) 40 (0.5)
& 30
s 20 Clamp 8
i
] T [é 4 Depth 4mm
© | o

4-M3 Depth 4mm

4-M3 Depth 3mm
o | o s

l
\

X+ XY
X+ XY

(18.5)
i
i
g

N . Y
! * Rotation Center “ Rotation Center

o™
Rotation <

Micrometer Head

57

294
(3LR) ORC

. ~ v
Swivel - | il g[ Micrometer Head

(Tilt) i
. E[

HafQIHE
Ag||0|X|
Xve

4-or M3 screws 30 ~ -
Shaft Length 3mm | | |

@ ST04A-S1T 4for M3 screws 030
Shaft Length 3mm

o=l »

Tz

Xefolx) @ ST04ASIM
Vacuum
Stage

HoiFx| . 185 _ 40 . @

Control
Electron-
1cs

Clamp ®8

(9.5)

2
#HES? \
Motor
Controller

catoly 1
gfA
Driver
Box

oj=2|
Aol

Applica-
tion

40

(70)

(18.5)

2E
Eatoly
MotorDriver e —

; Rotation Center

ZEFAH 0|
Cable | Micrometer Head

g

17

Accessories
30 ;
l' = J 4-for M3 screws

——— @ ST04A-S1S Shaft Longlh 3mm
Inspection
SEC

G-012 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



ot2n|s / AZAER 710|= / Ol0|2Z0|E] APO| = Ekkt

Aluminum Body / Cross-Roller Guide / Side-Mount Micrometer

EESNlle®

LA
Industrial
4 0 0 04
Model Number
EEERN : - o ags
. 0 04 0 Experi-
Mirror Model Number 32 P
B0l Aol e
Table Size 40mm X40mm Py
71| = g4 HLU I 2AS2 J10|E AH[0|X|
Guide Mechanism Cross-Roller Guide M{j‘ ';Le'al
3 el o .
Angular Range - X-XY
e = + + + X=XY
Work Distance 40mm=0.2mm 5Tmm=E0.2mm 40mm=0.4mm
513 F4 wely e -
ROt ot @0.05mm/%3 ©0.Imm/%3 z
Aa EA z
Minimum Readout
3|18z ~0.0116°/=2 ~0.0087°/=2 ~(.0116°/=3 (S1T) ~0.0087°/=3 (SIM) sIF
Angular Motion ~0.0116°/div ~0.0087°/div 22(.0116°/div (S1T) =0.0087°/div (S1M) Ro;tion
SE
MOMEnE Lgad :til:gness %3 0.41 arcsec/N-cm 1.22 arcsec/N-cm
SEUsHE
Load Capacity (Horizontal) 10.6M 2kgf)
M2 L2053
Material Aluminum Alloy
opz s A opZt
Finish Clear-Matt Anodizing
2 0.14kg 0.28kg
Weight ’ ’ XY
e 0to] 2 20|E &= (13mm) X-XY
Actuator Micrometer (13mm)
74
. ¥70,000 ¥140,000
Price(JPY) z
2HE HIE x4 - - z
Overhaul Price L i
28az2|A agh|
Clean Room Lubricant Change Price 35 e Sl :15
otation
ZZa2|A DEH|
Vacuum Lubricant Change Price #6 Al cElLL x
(mUe)
%1 STO4A-S1Si, STO4A-S1Te} STO4A-SIMS| FereiLict. © KMol BBl A= 0-001HI0|X|S A EHFXK. Swivel
Combination of SHO3B-DT and SH03B-DM form 2-axes swivel stage Refer to page 0-001 for information on accessory. (Tilt)
model SHO3B-DS. dzjoIniE
L) a3 = = S —_——=
%2 EERY, 0228, Felo] BHME G-004HOIXIS HEHFAR. O s e Aefo]x]
Refer to page G-004 for Information on Standard and Mirror Symmetry A = FEEAFAR. . . XY
Configuration. We appreciate the product customizing. Contact us for further information.
#3 ALY AH|0|X) Chi|(EEE) RUE SHE2 S ZeUch
Moment Stiffness of single Swivel stage is measured in Roll Direction.
4 QUE H|20f| DEPEH|E= o|ZHAULCH HMT A2 15H0IX|E BEHFHL.
(OFO|2 20|E{ | E= RUE ci40] oHLct)
Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.
w5 BTUa2|A Y2 FAH Bo| “-C"7t B&LICH AME 22 C-003HOIXIS
HEHFMR. 2
Clean room lubricant model has “-C” at the end of model number. HEEY
Page C-003 for further information. Motor
w6 TBIAA MY YAY B0 V77t BALICL MHJet HE C-003HOIXIS Controller
HEHFHL. cajols
Vacuum lubricant model has “-V” at the end of model number. Page oy
C-003 for further information. Driver Box
=2|
#lo|
Application
SE]
cajo|ty
Motor
Driver
2F
#Holg
Motor
Cable
25
Appendix

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp G-013



LA

Industrial

uys

s
Rotation

X+ XY
X+ XY

o™
Rotation

A4
(ae)
Swivel
(Tilt)

L2RIHE
AE|0|x]|
XY8

Tz
AH|0|X|
Vacuum
Stage

HOfEHA|
Control
Electron-
1cs

2
HESY
Motor
Controller

Eajo|ey
gfA
Driver
Box

oj=2|
Aol

Applica-
tion

2E
Eatoly
MotorDriver

ZEjFH0IZ

Accessories

HAA A
Inspection
System

G-014

=& 2[HW(AL|L) AE|O|X] / El|O]Z AFO|= 40X 40
Manual Swivel (Tilt) Stages / Table Size 40 X40

ST04A-C1T
ST04A-C1IM

STO4A-C1S

(0.5) 40 (45.5)
& 30
) 20 Clamp ®8
L%]-‘ < &4 Depth 4mm
‘ = & | GVE
g Sﬁ &
o |
4-M3 Depth 3mm
@ 4M3 Depth 4mm
g
"\ Rotation Center |\ Rotation Center
l [
j Micrometer Head 5 [
~ ° : - @ [ Micrometer Head
GO e SIS |
° °
4for M3 screws 00 | 5 - = -
Shaft Length 3mm L3 : ~
@ ST04ACAT 4for M3 screws / =
Shaft Length 3mm
@ STO4A-C1M
I X 45.5
2 8 40 ( ) Clamp ®8
|
© | ©
o | ¢
2 ] .
o | o
© o
o
[Te]
NS

@ STO4A-C1S 4-for M3 screws 30 J

Shaft Length 3mm

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



oZn|E [ A2 AZ2| 710|= / Oj0|320|E| ME] R ENle

Aluminum Body / Cross-Roller Guide / Center-Mount Micrometer

LA
Industrial
4 0 042 0
Model Number
CRERE . - et
. 044 04A 04A Experi-
Mirror Model Number 2 =
ol Aol x -
Table Size 40mm X 40mm P
7tol= gy FHECES S E/LTS 20|
Guide Mechanism Cross-Roller Guide Ma nual
EEET] -
Angular Range - Xe XY
AE{A .
‘:i?'kg'_s:f‘; 40mm=0.2mm 57Tmm=0.2mm 40mm=0.4mm Xexy
3H B4 HY o o
RO CanterErran ®0.05mm/=+3 » ®0.1mm/*3 z
4 BA z
Minimum Readout
3|32} ~0.0112°/=3 ~0.0085°/=2 ~0.0112°/=2 (C1T) =0.0085°/=3 (C1M) *|H
Angular Motion ~0.0112°/div ~0.0085°/div 20.0112°/div (C1T) =~ 0.0085°/div (C1M) R o;ti T
SE 3|
s de Sti'gm %3 0.41 arcsec/N-cm 1.22 arcsec/N+cm
SEUsHS
Load Capacity (Horizontal) 19.6N (2kgf
M FolE E©3
Material Aluminum Alloy
o uljA opzt
Finish Clear-Matt Anodizing
S 0.12kg 0.24kg
Weight : | : .
25 oto|=3 20|E #1E (13mm) XeXY
Actuator Micrometer (13mm)
12
. ¥70,000 ¥140,000
Price(JPY) z
SHE B 4 - - z
Overhaul Price ¥24,000 ¥48,000
2gla2|A ag|
Clean Room Lubricant Change Price 35 e el :103
on
ZTZa2|A DEH|
Vacuum Lubricant Change Price #6 e S A
(3AL|2)
31 STO4A-C1S2 STO4A-C1TEt STO4A-CIMS| ZEeiLct. © UMM ZAsHAHE O-001H[OIX|S HZHFM 2. f}'}’l't‘;e'
Combination of SHO3B-DT and SH03B-DM form 2-axes swivel stage Refer to page 0-001 for information on accessory.
model SHO3B-DS. datoIHE
#2 EEDY, 0228, Feof BHAE G-004HOIXIS HEHFHL. © 2AHO0| A= HEAZE StsL Ae{o]x]
. ; AMEt A2 FULE BAFHL. XY
Refer to page G-004 for Information on Standard and Mirror Symmetry : .. . .
; We appreciate the product customizing. Contact us for further information.
Configuration.
#3 A9 AH|0|X| Chi|(BEE8)0| RRUE StE2 S ZA YU Ch
Moment Stiffness of single Swivel stage is measured in Roll Direction.
4 QUE H|20| DEREC|E o|ZHALICL AMT AL 15HOIXIS HEHFHL.
(OFO|2 20|E| 8| E= RUE ci40] oblLct)
Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.
w5 BTUIIA Y2 FAH Zo| “-C"7t B&LICH AME 22 C-003HOIXIS
HEHFMR. =]
Clean room lubricant model has “-C” at the end of model number. HEEZ
Page C-003 for further information. Motor
C 1l
6 TBIIA MY WA Bojl V"7t BaLich AXE A C-003H0IX|S entroler
Vacuum lubricant model has “-V” at the end of model number. Page uLA
C-003 for further information. Driver Box
=2|
#lo|
Application
SE]
cajo|ty
Motor
Driver
2F
#Holg
Motor
Cable
25
Appendix

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp G-015



AARHE

System
Products

& 29[¥W(AL|2) AE|O|X] / El|O]Z AFO|= 50X 50
Manual Swivel (Tilt) Stages / Table Size 50 X 50

g
Industrial

dgs
Experi-

SHO5B-RT SHO5B-RB SHO5B-RS
SHO5B-RM SHO5B-RL

3™
Rotation ;24 Depth Smm Clamp 15
/ {4M3 Depth 4mm
I} L /| 4M3 Depth 3.5mm
] = —:t‘f':l [/ -
® e( é Handle 12 I
. ‘e O
AsEY - © e
Ag0[x] ae o Ecﬁ 75N
Motorized —E] Al
S“Soe"z ‘Id:( ;E e
L ¢ ©
XXY - Ad =
X-Xy ) 30
=] a0 T
(10.5) 50 (20)
z I
z  Rotation Center '\ Rotation Center '\, Rotation Center
3™ 3
Rotation f
@
AL -
(@LU2) % :x zum [& ~
ilt - . - -
! @ EIKOHZU (2] ©
J40 4-for M3 screws = e s:ml
HQIHE l‘—‘ Pttt T
Selolx| @ SHOSBRT Shaft Length 3mm y : ] Sl :
Xye 40 4-for M3 screws «
Fz 0 SHO5B-RM Shaft Length 3mm i
AE|0|x]|
Vacuum
Stage Clamp ®15 ‘ SHO5B-RB Shaft Length 3mm
S l
< .
& ‘ o Handle $12
: -
Ll [t ] ./
HES? g [ | 1
Motor t b
Controller P[‘t_g ‘ :E_é
2ol o ‘ %e
upA — -
Driver Em=‘ i
Box .
ojz2| S
#old (12.5) 50 (20)
Applica- |
tion T )
Rotation Center F\ Rotation Center
2
Eatoly
MotorDriver 2
3
ZEFH 0|2
Motor
Cable
25 b '
Appendix T 3 %é»
p 1
L J 4for M3 screws &
@ SHO5B-RS Shaft Length 3mm b
4-for M3 screws
@ SHO5B-RL Shaft Length 3mm

G-016 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



gs /[ ARAER 710|E [ H&EE
Brass Body / Cross-Roller Guide / Worm and Worm Wheel

oL
Model Number

o2y ¥4 i 05B-RM-R

Mirror Model Number 3

E|O|= Afo] =
Table Size

50mm X 50mm

7to|=

Guide Mechanism

2 Hel

+ o
Angular Range =l

3 fAEA

+
Work Distance 68mm=*0.2mm

50mm=0.2mm

Y 32AEY Jt0|=
Cross-Roller Guide

+8°

86mm=0.2mm

+10°

50mm=0.4mm

+10°(RM), +8°(RB)

68mm=0.4mm

Rotation Center Error

3 Y HAY ®0.05mm/=+10°

®0.05mm/+8°

®0.1mm/£10°

®©0.1mm/+8°

3|4 HA

Minimum Readout

0.1°(#{Lo})

0.1° (vernier)

3|HZ
Angular Motion

1.55°/#S 13| H
1.55°/Handle Revolution

1.2°/4E 1313

1.2°/Handle Revolution

0.97°/#S 12|H
0.97°/Handle Revolution

1.55°/#S 12| (RT)

1.2°/# S 13|H (RM)
1.55°/Handle Revolution (RT)
1.2°/Handle Revolution (RM)

12°/S 13|H (RM)

0.97°/2S 13/ (RB)
1.2°/Handle Revolution (RM)
0.97°/Handle Revolution (RB)

Moment Load Stiffness #4

SE 315

0.31 arcsec/N+cm

0.92 arcsec/N+cm

Load Capacity (Horizontal)

b 29.4N (3kgf)

24.5N (2.5kgf)

HE
Material

s

Brass

of

Finish

234
i 0.36kg

3E =3 ot
Chromium Matte Plating

0.72kg

544
Actuator

S
Handle-Wheel

P
Price(JPY) s

¥170,000

QB{E HIB x5

Overhaul Price e

¥48,000 ~

Clean Room Lubricant

S22 A ash]|
¥18,000 ~
Change Price 36

ZZOe|A REH|
Vacuum Lubricant
Change Price 37

¥18,000 ~

¥36,000 ~

¥36,000 ~

#1

%2

#3

54

%5

#6

T

SHO5B-RSt= SHO5B-RT2t SHOSB-RM2| ZH@iLct,

Combination of SHO5B-RT and SHO5B-RM form 2-axes swivel stage
model SHO5B-RS.

SHO5B-RLE SHO5B-RMe SHOSB-RBS| ZgheiL|ct.

Combination of SHO5B-RM and SHO5B-RB form 2-axes swivel stage
model SHO5B-RL.

HEFEQY, 0/22Y, Zgho AsiME G-004H|0|X|S EHZHFH L.

Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.

A9 AH0|X] Thyl(B8E8)0| FUE SHF2 5 ZMYULIch

Moment Stiffness of single Swivel stage is measured in Roll Direction.
QBE HI20|| nEtP 2| 0| ZEHULICE AT A2 15HOIX|S AEHFAH L.
Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.
2022 A2 @AY B “-C"7t B&Lich ANst 22 C-003H0|XIE
CELES =N

Clean room lubricant model has “-C” at the end of model number.
Page C-003 for further information.
TZa2|A A2 WAYH B “v'7t 24t AA4et 22 C-003H0|XIS
ECELES =N

Vacuum lubricant model has “-V” at the end of model number. Page
C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

O UHAM2(0f i E= 0-001H|0|X| S & EHFM L.
Refer to page 0-001 for information on accessory.

© 20| 3| UstAlE HMEMNEE FHsELIch
AN AR FYRE 2oFAIR.

We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

+53
AH|0| x|

Manual
tage

X-XY
X+XY

|
Rotation

NN

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-017



gt
Industrial

dgs
Experi-
mental

=™
Rotation

X+ XY
X XY

NN

s|H

Rotation

A4
(L)
Swivel
(Tilt)

L2RIHE
26|0[x|
X8

Ll
HESY
Motor
Controller

cajol
gfA
Driver
Box
oj=a|
#old
Applica-

tion

2§
Sajolu

MotorDriver

DEHoIZ
Motor
Cable

sg
Appendix

G-018

5 ASH(L| ) AH|O|X] / E|O]ZE AFO|= 50X 50

Manual Swivel (Tilt) Stages / Table Size 50 X 50

STO5A-S1T ST05A-S1B
STO5A-SIM

STO5A-S1S
STO5A-S1L

(0.5) 50 (0.5)
- 40 -
30
W
N
N>/
. - ® L &4 Depth 5mm
i o b —
223 = _&M3 Depth 5mm
//
Hoe o V Micrometer Head
e & I
E I | I
- LT} E; %
= L
(81) |

ﬁ» Rotation Center

(=]
n

18

& W ;G=E /
1 JLEN y
o T® i dd |

| 925

@ STO5A-S1T ~

18.5

'
\_4-for M3 screws
= Shaft Length 3mm

Clamp ®15

@ STO5A-S1M

Micrometer Head

50

(12)

50

18

o0
-

(12)

50 18.5

|, Rotation Center

o\
\
) E_g
d. 1+

4-for M3 screws
Shaft Length 3mm

=l
lid
..

o \
" Rotation Center
|

_Rotation Center

oL

\ 4-for M3 screws

r\' =
'[ I L=
©) Ca @ @)
Clamp 15 |
)
I\
\
!
3 !
\
%
%
@ STO5A-S1L

" Shaft Length 3mm

8

[Te]

\ ° &

N 4-for M3 screws ® | 2

Shaft Length 3mm | e Z
| D40 |\ or M3 sorews
——— = Shaft Length 3mm
@ STO5AS1B

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



90ji5/ 324821 0C /0lo|220/E| MOIE B g ey anm ) (072

Aluminum Body / Cross-Roller Guide / Side-Mount Micrometer

4
Model Number

oI g4
Mirror Model Number 33

El0l= Ato|=
Table Size

50mm X 50mm

7to|<= gy
Guide Mechanism

o Hel
Angular Range

A3 ClAEHA
Work Distance

50mm=0.2mm

68mm=+0.2mm

HY 32AS2 70|
Cross-Roller Guide

SE g

86mm=0.2mm

50mm=0.4mm

68mm=0.4mm

3H B HUY
Rotation Center Error

®0.05mm/+3°

@0.1mm/=%3°

A BA

Minimum Readout

3Hzt
Angular Motion

~0.0097°/=2
~0.0097°/div

~0.0074° /=3
~0.0074°/div

~0.006°/=2
%0.006°/div

2(0.0097°/=2 (S1T)

~0.0074°/=2 (S1M)
20.0097°/div (S1T)
~20,0074°/div (S1M)

20.0074°/=2 (S1M)

~0.006°/=2 (S1B)

0.0074°/div (S1M)
~0.006°/div (S1B)

SRIE 85

0.31 arcsec/N+cm

Moment Load Stiffness 4

0.92 arcsec/N+-cm

SHUsHS
Load Capacity (Horizontal)

29.4N (3kgf)

HE
Material

R0z g3
Aluminum Alloy

ok
Finish

|
L 0.21kg

9 opz
Clear-Matt Anodizing

0.42kg

FEYY
Actuator

oto|2 2018 #1= (13mm)
Micrometer (13mm)

7t
Price(JPY) LAl

¥140,000

2B F HIB x5

Overhaul Price b

¥48,000 ~

Sela2A 2|
Clean Room Lubricant
Change Price #6
TZaaA D
Vacuum Lubricant
Change Price #7

¥18,000

¥18,000

¥36,000

¥36,000

#1 STO5A-S1SE STOSA-S1TQt STOSA-SIMS| ZgfLict.
Combination of SHO5B-RT and SHO5B-RM form 2-axes swivel stage
model SHO5B-RS.

#2  STO5A-S1LE STOSA-SIMzf STO5A-S1B2| ZEgfiLct.
Combination of SHO5B-RM and SHO5B-RB form 2-axes swivel stage
model SHO5B-RL.

#3 HEDY, 0229, T i G-004H0|X|S AEHFM L.
Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.

#4 A AEO|X| Ty (B48)0| IUE 3HF2 & ZHYLICH
Moment Stiffness of single Swivel stage is measured in Roll Direction.

%5 QUHE H|S0| REREH|E= o|ZHAULICH AM(T A2 15H0|X|S HZEHFH L.
(ot0|220|E SIEE 2 ciAo| ofELct)
Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.

#6 SUIIA MY HAY Zoj| “-C"7t E&LIch ANE 22 C-003H0|X|E
FEHFAL.
Clean room lubricant model has “-C” at the end of model number.
Page C-003 for further information.

#T TZ22|A Atk2 FAY ol “Vv7oF BLch dAEt A2 C-003H0|X|IS
HZAHFAR.
Vacuum lubricant model has “-V” at the end of model number. Page
C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

O YAHAM2[0 2siAE 0-001H|0|X|S & EHFMH K.
Refer to page 0-001 for information on accessory.

© ZAH0| 3|YstAE MBMEE FHsELICH

MMt A2 FULE BAFHL.
We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

+53
AH|0| x|

Manual
tage

X-XY
X+XY

|
Rotation

NN

H
Rotation

2
(TLI2)

Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-019



LA

Industrial

uys

s
Rotation

X+ XY
X+ XY

o™
Rotation

A4
(ae)
Swivel
(Tilt)

dajelHE
AH|0|X|
XY

Tz
AH|0|X|
Vacuum
Stage

HO{EH|
Control
Electron-
1cs

2
HESY
Motor
Controller

Eajo|ey
gfA
Driver
Box

oj=2|
Aol

Applica-
tion

2E
Eatoly
MotorDriver

ZEjFH0IZ

Accessories

HAA A
Inspection
System

G-020

+& A9IH(1L|2) AH|O|X] / HIO|E AFO|= 50X 50
Manual Swivel (Tilt) Stages / Table Size 50 X 50

STO5A-S3T-CL
STO5A-S3M-CL

STO5A-S3S-CL

Rotation Center

7 %)% R

©5) g0 (05 (9.25) 18 (1.75) Clamp &15
30
g ey e
| L >| @4 Depth 5mm <
<
o,
elg | &m3Depth5mm -
< @ B -
Micrometer Head Rl
? @ o FPP03-13 .
a 500 3 z
8 N 3V
(98)
; Rotation Center
s |
‘ 8
co' ° oY ]='_ =
- Al =
® 'IX '|f A i |
4-for M3 screws © ° @
Shaft Length 3mm = S S,
@ STO5A-S3T-CL 4-for M3 screws
Shaft Length 3mm . (140
@ STO5A-S3M-CL
Micrometer Head
FPP03-13
©
o™
8 S —_ =
’ &
o)
> )
8 .
2O
)
at
4,
Clamp 915
(12) 50 (22.5)
RRohtlon Center
’g" 3
o)
3
|
i 3
4-for M3 screws 040 =l
@ STO5A-S3S-CL Shaft Length 3mm ;

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



20|z A2ZAE 710|= / FEL ZX|ML AO[= FA

Aluminum Body / Cross-Roller Guide / Side-Mount Fine Pitch Positioner

L
Model Number

Oj2{ 2 H4

Mirror Model Number 32

B[] = Ato|=
Table Size

50mm X 50mm

710|= Hh4

Guide Mechanism

3H He
Angular Range

#13 fAgA

+
Work Distance 50mm£0.2mm

HL 32483 710l
Cross-Roller Guide

T

68mm=0.2mm 50mm=0.4mm

Rotation Center Error

3 Y Y

®0.05mm)/£3°

®0.1mm/+3°

4 BA|
Minimum Readout

ZE5=0.0097°/=3, 015 ~0.00048°/i=2 (S31),

314z E§~0.0097°/=3, 015 ~0.00048°/ =3 Z&=0.0074°/=3, 0|5 ~0.00037°/=2 ZE=0.00747/=3, 0I5 ~0.00037°/:=2 (S3M)
Angular Motion Coarse = 0.0097°/div, Fine = 0.00048°/div Coarse ~0.0074°/div, Fine = 0.00037°/div Coarse ~0.0097°/div, Fine & 0.00048°/div(S3T),

Coarse =0.0074°/div, Fine =20.00037°/div(S3M)

Moment Load Stiffness #3

QQE 3t

0.31arcsec/N-cm

0.92 arcsec/N-cm

Load Capacity (Horizontal)

SHUSHS

20.4N (3kgf)

HE
Material

=R
Aluminum Alloy

ok
Finish

24
e 0.21kg

WA otz
Clear-Matt Anodizing

0.42kg

FEUA

AHY =X|MH FPP03-13 (13mm)

Actuator Fine Pitch Positioner FPP03-13 (13mm)

7t

e ] ¥106,000

¥212,000

2B F HIB x4

Overhaul Price e

¥48,000 ~

S8a2|A 2gH|

Clean Room Lubricant ¥18,000

Change Price 35

ZZoe|A ngH|
Vacuum Lubricant ¥18,000
Change Price 3#6

¥36,000

¥36,000

#1

%2

%3

W4

%5

#6

STO5A-S3S-CL2 STO5A-S3T-CL2t STOSA-S3M-CLO| Z&HeiLct.
Combination of SHO3B-DT and SH03B-DM form 2-axes swivel stage
model SHO3B-DS.

HEDY, 0] 2, Tl 2eiA= G-00400|X|S HEHFM L.

Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.

224 A|O|X| Chy|(BE8)2| RAUE SIE2 & ZYYLIch

Moment Stiffness of single Swivel stage is measured in Roll Direction.
SHE H 0| RS s o EULCH HMHE 22 150X
AZHFHL. (0I0|220|H S5 2HE ci40| otdL|ct)

Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.

S22 A2 FAY 2o “-C"7t 2&Lct AME A2 C-003H0|XIS
HEHFHR. 22|A a2 AHO|X| 242 7HsEL Ch

Clean room lubricant model has “-C” at the end of model number.
Page C-003 for further information.

TZa2A A2 HAY B “v'7t 24l ch 4A4et 242 C-003H0|XIE
HZHFEHR. 22|A e AEO|X] 24 7HSELICH

Vacuum lubricant model has “-V” at the end of model number. Page
C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

O YHAM2(0l 2= 0-001H|0|X| S & EHFM L.
Refer to page 0-001 for information on accessory.

O 20| 3| YstAlE HMEMNEE JHsELICh
Mt A2 FULE BAFHL.
We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

+53
AH|0| x|

Manual
tage

X-XY
X+XY

|
Rotation

x %
2%

NN

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-021



=& 29[HW(AL|L) AE|O|X] / El|O]Z AFO|= 50X 50
Manual Swivel (Tilt) Stages / Table Size 50 X 50

AAEHE

System
Products

g
Industrial

HEg
Experi-

<t
o m‘

m-’&’ S

STOSA-CIT | STO5A-C1B | STO5A-C1S
ST05A-C1IM STO5A-CIL

A

Rotation ®4 Depth 5mm

—gf 8M3 Depth 5mm
— f

e% y 04 - Micrometer Head

Te» i

(12)

50
40
30

X=XY L 30
XeXY 4
5

(0.5)

0
(5) 0 (43)

;Rotaﬂon Center \ Rotation Center ; Rotation Center

NN
50

68

o™
Rotation

86

AL
(zUe) :
Swivel 4-for M3 screws 40
(Tilt) Shaft Length 3mm =

cajolniE @ STO5A-CAT
AH|0|X|
XY8

Shaft Length 3mm
@ STO5A-C1M

Xz Shaft Length 3mm
Adjo|x| @ STO5A-C1B

S (5) 50 @3)

Clamp ®15

HoAZA|
Control
Electron-
ics

(12)

50

2
HESY
Motor
Controller

catol
gfA
Driver
Box

oj52|
Aol
Applica-

tion

(43)

2
Eajoly
MotorDriver

50

DEAOIZ 3
Motor
Cable

0
— 1o "0

18

O310) O30
a 4

N |
1
|

©
©

4-for M3 screws a0 3
Shaft Length 3mm

@ STO5A-C1S 4o M3
@ STOSACIL St toariamy —— 0

G-022 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



20| [ IRAEF 70| / 00| 32 0|E] HlE| KA}

Aluminum Body / Cross-Roller Guide / Center-Mount Micrometer

EESNlle®

LA
54| Industrial
Model Number L5 ! ! : L !
EEERN , . ; . O5AC1ER ; ; dus
Mirror Model Number 33 - fn’f:&'l
H|O| = Afo|= x
Table Size 50mmX50mm o
7to|= g4 Y 32AE J10|= 2E|0| x|
Guide Mechanism Cross-Roller Guide Mtq gqal
B el i 2
Angular:anf XoXY
Ji?k;ll:ti; 50mm=0.2mm 68mm=0.2mm 86mm=0.2mm 50mm=0.4mm 68mm=0.4mm X=Xy
3H S HAY o o
Rotation Center Error @0.05mm/ =3 @0.1mm/%£3 z
A& HA 0.1°(e{L]of) z
Minimum Readout 0.1° (vernier)
~0.0095°/=2 (C1T) = | =0.0073°/=2 (C1IM) -
o HZ ~0.0095°/=2 ~0.0073°/=3 ~0.0059°/=2 0.0073°/=3 (C1M) 2(.0059° /=3 (C1B) =" .
Angular Motion 20.0095°/div 20.0073°/div 2 0.0059°/div ~0.0095°/div (C1T) 2 0.0073°/div (C1M) Rotation
20.0073°/div (C1M) 220.0059°/div (C1B)
E
MomentEL:!ai ssitgnoss 4 0.31 arcsec/N+-cm 0.92 arcsec/N-cm
SHSHS
Load Capacity (Horizontal) 29.4N (3kgf)
M 20|53
Material Aluminum Alloy
opz A op2f
Finish Clear-Matt Anodizing
— .
W-:i:it 021kg 0.42kg o
FEU4 oto|2 20/ SIS (13mm)
Actuator Micrometer (13mm)
74 z
Price(JPY) ¥70,000 ¥140,000 zZ
HE HIB &5 ~ ~
Overhaul Price ¥24,000 ¥48,000 o
Se|A 2| Rotation
Clean Room Lubricant Change Price 6 e == 000
302 A | A
Vacuum Lubricant Change Price 7 i =000 (T 2)
Swivel
(Tilt)
#1 STOSA-C1S2 STOSA-C1Te} STOSA-CIMS| ZgfeiL|ct. O AAAM2[0 2= 0-001H|0|XIE & EHFMH K.
Combination of SH0O5B-RT and SHO5B-RM form 2-axes swivel stage Refer to page 0-001 for information on accessory. %33-:%5

model SHO5B-RS. Xve
%2 STOSA-CLLE STOSA-CIM2} STOSA-C1B9] ZgtelLict. © =AH0l A= MBHEE JtsELIc
Combination of SHO5B-RM and SHO5B-RB form 2-axes swivel stage e *PQ"_ FALS 2OAFAL. . . .
model SHO5B-RL. We appreciate the product customizing. Contact us for further information.
#3 HEDY, /22, T i G-004H0|X|S AEHFM L.
Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.
4 AQY AHO|X| Ty (B8E8)0| RAUE SHF2 & PMYULIch
Moment Stiffness of single Swivel stage is measured in Roll Direction.
w5 QHE HI20 RPEH = ojzEYLct AMEt 42 15HOIXE
YEHZMR. (010 320/6f S DB chafo| obdLct) e
Additional parts cost is not included on Overhaul cost. Refer to page Motor

16 for further information. Controller
#6 SUDIA AU @AY Zoj| “-C"7t E&Lch AANEt 22 C-003H0|XIE
HEAHFEAR. fi}ouﬂ
Clean room lubricant model has “-C” at the end of model number. 't_—
Page C-003 for further information. Driver Bax
#T ZBO2A A2 @AY B “-v77t 2Lt AA4et 22 C-003H0|XIE =3l
HEHFAR. 0|4
Vacuum lubricant model has “-V” at the end of model number. Page Fere e
C-003 for further information.
2E
cajo|ty
Motor
Driver
2F
#Holg
Motor
Cable
g5
Appendix

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp G-023



AARHE

System
Products

g
Industrial

dgs
Experi-

s
Rotation

asdY
AH|0|X|
Motorized
Stage

X+ XY
X+ XY

NN

o™
Rotation

A4
(nLe)
Swivel
(Tilt)

HafQIHE
AH|0|X|
XY8

Iz
AH|0|x|
Vacuum
Stage

2
HESY
Motor
Controller

catol
gfA
Driver
Box

oj52|
Aol
Applica-

tion

2
Eajoly
MotorDriver

ZE3H0lE
Motor
Cable

CEY
Appendix

G-024

=& 29[¥W(AL|2) AE|O|X] / El|O]Z AO|Z= 70X T0
Manual Swivel (Tilt) Stages / Table Size 70 X 70

SHO7A-RT SHO7A-RB SHO7A-RS
SHO7A-RM SHO7A-RL
— ®5 Depth 5mm
19 Clamp®15
R | &M3 Depth 6mm
| { 4-M4 Depth 5mm
I ¢ 4
g / ‘1 Handle $©20
R 8 2 8 - v
= -4: ‘f o
H o &
o EED
1=l 40
60
(16) | 70 (27) |
T ( Rotation Center ] ; Rotation Center ] ;Rotaﬁon Center
14
8 o™~
g
@ ExoHzu @
© (2]
4-for M4 screws /|  [J60 | - o ® o © )
St Lorgt 4 Sl e e L85 2
@ SHO7A-RT 4-for M4 screws /I 60 l :I © ! D exdhm @ | ha
Shaft Length 4mm . H :
@ SHO7A-RM 4for M4 screws /| [J60 |8
Shaft Length 4mm i
@ SHO7A-RB
Clamp ®©15
3 p— T
‘ ) Sl ole 2o
<+ 4 132 e
+ ©)
. K s | i ©) g 1
~ 83 =
N
+ T_P:H _@% :
T - —— Ao ——
=t
16 70 1))
] iRotau’on Center ] (Rotaﬁon Center
o
~
8
Handle $©20
© @ Sxopzu @
« %%W Handle 20
‘ o @ exkonzw @
© 100 (o) A ©
“ —B; Lo @GD@ oll] N Tgé;&*%ww
X
60 "\ 4-for M4 screws © _lo SIZNO ol
@ SHO7A-RS Shaft Length 4mm « I CNZ )
Jeo 4-for M4 screws
@ SHO7A-RL Shaft Length 4mm

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



A20|E /| ARAED J7j0|E [ E&EE
Aluminum Body / Cross-Roller Guide / Worm and Worm Wheel

a4
Model Number

o[22 H4
Mirror Model Number 3#3

El0]= AfO|=
Table Size

70mmX70mm

7H0|=
Guide Mechanism

3H He
Angular Range

3 clAEHA
Work Distance

+10°

70mm=0.2mm

96mm=0.2mm

Y 32AE8 Jo|=
Cross-Roller Guide

+8° +10° +10°(RM), +8°(RB)

122mm=0.2mm 70mm=0.4mm 96mm=0.4mm

3H SN HYY
Rotation Center Error

®0.05mm/%10°

$0.05mm/+8° ®0.1mm/*10° ®0.1mm/£8°

A EA
Minimum Readout

0.1° (e{L{of)

0.1° (vernier)

3|52t
Angular Motion

1.53°/#S 1318
1.53°/Handle Revolution

1.2°/E 13|H
1.2°/Handle Revolution

1.53°/3E 13| H (RT) 1.2°/#S 12| (RM)

0.96°/#S 1318 1.2°/#S 12|H (RM) 0.96°/%S 121H (RB)
0.96°/Handle Revolution ' 1.53°/Handle Revolution (RT) 1.2°/Handle Revolution (RM)
1.2°/Handle Revolution (RM) 0.96°/Handle Revolution (RB)

SHE 35
Moment Load Stiffness #4

0.09 arcsec/N-cm

0.28 arcsec/N-cm

Load Capacity (Horizontal)

b 49N (Skgf)

44.1N (4.5kgf)

HE
Material

F0l5 g3
Aluminum Alloy

ok

Finish

2A
e 0.57kg

s Al opzt
Clear-Matt Anodizing

1.14kg

FEYY
Actuator

s
Handle-Wheel

e
Price(JPY) i

¥170,000

2B{E HIE x5

Overhaul Price e

¥48,000 ~

Clean Room Lubricant

Sela2|2 g
¥18,000
Change Price #6

TZa2|A DEh|
Vacuum Lubricant
Change Price #7

¥18,000

¥36,000

¥36,000

#1

%2

%3

x4

#5

#6

#T7

SHOTA-RSE SHOTA-RTS SHOTA-RM2| Zgh@iLct,

Combination of SHO5B-RT and SHO5B-RM form 2-axes swivel stage
model SHO5B-RS.

SHOTA-RL2 SHOTA-RMZ} SHO7A-RBS| ZetgiL|ch

Combination of SHO5B-RM and SHO5B-RB form 2-axes swivel stage
model SHO5B-RL.

HEDY, 0] 2, Tl HsiM= G-004H0|X|S HEHFM L.

Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.

A9 AH0|X| Thyl(B8E8)0| FUE SHF2 5 ZMYULIch

Moment Stiffness of single Swivel stage is measured in Roll Direction.
QHE HIS0|| DEPEH|= 0| ZERALICE AAEH 2 15H0|X|S AEHFH 2.
Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.

S202A AAR FAH 2of| “-C"7t B&LIch AT 22 C-003H0|XIS
CELES =N

Clean room lubricant model has “-C" at the end of model number.
Page C-003 for further information.

TZa2A A2 WAY B “v'7t 24Ut AA4et 242 C-003H0|XIE
ECELES =N

Vacuum lubricant model has “-V” at the end of model number. Page
C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

O dAHAM2[0l 2= O0-001H|0|XIE & EHFMH K.
Refer to page 0-001 for information on accessory.

O 2ol 3|YstAl= HMEMNEE 2HsELIch
AN AR SYRE BAFML.

We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

+53
AH|0| x|

Manual
tage

X-XY
X+XY

|
Rotation

NN

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-025



AARHE

System
Products

=& 29[¥W(AL|2) AE|O|X] / El|O]Z AO|Z= 70X T0
Manual Swivel (Tilt) Stages / Table Size 70 X 70

g
Industrial

dgs >
Experi- =N
‘o-;- :’m -

@ 3

%

STO7A-SIT | STO7A-SIB | STO7A-S1S |
STO7A-SIM STO7A-SIL

NN

s
Rotation

30 } Clamp 915
&

(12.5)

° <+ ) @5 Depth 7mm
8M3 Depth 6mm

Sta, - 4-M4 Depth 5mm
ge %
#/

7

60

40
30

Lo & Micrometer Head

==t e

(126.5)

[\ Rotation Center ] \Rotation Center ' *Rotation Center

X+ XY
X+ XY

(21.5)

NN

- |
Rotation

70
96

122

=
(aue)
Swivel &
(Tilt)

4-for M4 screws 50 ¢ S O [
Y2elHE Shaft Length 4mm s & I ]
AH|0|X| o [ [
XY8 @ STO7A-S1T 4-for M4 screws Js0 ©

Shaft Length Smm o ﬂ T

14

7
o
i
(©)
®
14

]
E?IOIII @ STO7A-S1M 4-for M4 screws

Vacuum Micrometer Head Shaft Length 5Smm
Stage n .

@ STO7A-S1B

(21.5)

2
HESY +

Motor i * >
Controller

cajol
oA "o e
Driver o ¢

W

Box = = . ‘-—G;V
oj52| ;

Aol y (125) 70 (215) Clamp ®15

Applica-

tion

"4
(126.5)

70
4

(12.5)

[=l=] A'F\Rotation Center [ ' Rotation Center
Eajoly
MotorDriver

70

ZE3H0lE
Motor
Cable

96

A

26

CEY
Appendix

26

4-for M4 screws
Shaft Length 5mm

=

[Jeo . 4-for M4 screws
@ STO7AS1L - beo | Shaft Length 5mm

@ STO7AS1S

26

G-026 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



ot2n|s / AZAER 710|= / Ol0|2Z0|E] APO| = Ekkt

Aluminum Body / Cross-Roller Guide / Side-Mount Micrometer

EESNlle®

a4
Model Number

[EEEEL TASITR TASINLR
Mirror Model Number 3#3

El0]= AfO|=
Table Size

70mmX70mm

7H0|=
Guide Mechanism
3  Hel
Angular Range
3 clAEHA
Work Distance

70mm=0.2mm 96mm=0.2mm

Y 32AE8 Jo|=
Cross-Roller Guide

=33

122mm=0.2mm 70mm=0.4mm 96mm=0.4mm

IH Y HAY

+ o
Rotation Center Error b

®0.1mm/=%3°

4 BA

Minimum Readout

3|3z 20.0069°/=3
Angular Motion 220.0069°/div

~0.0053°/=2
~0.0053°/div

20.0069°/=2 (S1T)

~0.0053°/ =3 (S1M)
220.0069°/div (S1T)
220.0053°/div (S1M)

2(.0053°/ =2 (SIM)
~0.0042°/=2 (S1B)
20.0053°/div (S1M)
220.0042°/div (S1B)

~0.0042°/=3
~20.0042°/div

HRE 313

Moment Load Stiffness #4 T

0.28 arcsec/N-cm

SHLUsHS

Load Capacity (Horizontal) 49N (Skgf)

44.1N (4.5kgf)

HE
Material

F0l5 g3
Aluminum Alloy

ok

Finish

2A
e 0.52kg

s Al opzt
Clear-Matt Anodizing

1.04kg

FEYY
Actuator

oo|2 2 0|5 S (25mm)
Micrometer (25mm)

e
Price(JPY) S

¥144,000

2B{E HIE x5

Overhaul Price L

¥48,000 ~

Sela2|A 2|
Clean Room Lubricant
Change Price #6
TZa2|A DEh|
Vacuum Lubricant
Change Price #7

¥18,000

¥18,000

¥36,000

¥36,000

#1 STOTA-S1SE STOTA-S1T2t STOTA-SIMS| ZEgiL|ct.
Combination of SHO5B-RT and SHO5B-RM form 2-axes swivel stage
model SHO5B-RS.

#2 STOTA-SILE STOTA-SIMz} STO7TA-S1B2| Z=gfiL|ct.
Combination of SHO5B-RM and SHO5B-RB form 2-axes swivel stage
model SHO5B-RL.

#3 HEDY, 0|29, T i G-004H0|X|S AEHFM L.
Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.

4 A AEO|X| Ty (B48)0| IHE JHF2 & ZHYLIch
Moment Stiffness of single Swivel stage is measured in Roll Direction.

#5  QUHE HIS0|| et Ed|= 0| ZHYLICH 44T 212 1500IX|S EEHFAR.
Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.

#6 SUID2|A MY FAY Zo| “-C"7t B&LIch M 22 C-003H0|X|S
CECES =N
Clean room lubricant model has “-C” at the end of model number.
Page C-003 for further information.

#T ZIZO2|A A2 HAH Zoj| “-v'It 4L A4E 22 C-003H0|X|E
ECELES =N
Vacuum lubricant model has “-V” at the end of model number. Page
C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

O YAHAM2[0l 2= 0-001H|0|XIS & EHFMH K.
Refer to page 0-001 for information on accessory.

© 20| YAl HENEE JHsELICE

MM A2 YRR ROAFMIR.
We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

+53
AH|0| x|

Manual
tage

X-XY
X+XY

|
Rotation

NN

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-027



LA

Industrial

uys

s
Rotation

X+ XY
X+ XY

o™
Rotation

A4
(zUe)
Swivel
(Tilt)

HafQIHE
AH|0|X|
XY8

Tz
AH|0|X|
Vacuum
Stage

HOfEHA|
Control
Electron-
1cs

2
HESY
Motor
Controller

Eajo|ey
gfA
Driver
Box

oj=2|
Aol

Applica-
tion

2E
Eatoly
MotorDriver

ZEjFH0IZ

Accessories

HAA A
Inspection
System

G-028

& AQIH(1L|2) AH|O|X] / HIO|E AFO|= 70X 70
Manual Swivel (Tilt) Stages / Table Size 70 X 70

STO7A-S3T-CL
STO7A-S3M-CL

STO7A-S3S-CL

70
60
o 40
§ 30 Clamp ®15
o h
' v 3
®5 Depth 7mm
-2 Depth 7mm
R 8238 8M3 Depth 6mm
4-M4 Depth 5mm
$
<+ +4‘/ Micrometer Head
| Lo 4 FPP03-13
© E T
8
(115.5)
Rotation Center \\Rotation Center
o
~
©
(=]
©w,
. 0 3
& LA
[ :@ '
4-for M4 screws
Shaft Length 4mm Lieo &
@ STO7AS3T-CL 4-for M4 screws DéO ‘
Shaft Length 4mm
@ STO7A-S3M-CL
Micrometer Head
fFPPOS—lS
J
Q il='e
o e -
| @
i e | g
o
~ |
>
g +*
[& R
= =
. i
3
q (12.5) | 70 /(23.5)
'\Rotation Center
o
~
©
© o
@ o "3 o P
8 @/F |
() SR ':{‘
~N i —
A !
4-for M4 screws
@ STO7A-S3S-CL o0 ~Shaft Length 4mm

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



Y20lE /I2AE2{ 710|= / FE EXINL AMO|= Z&

Aluminum Body / Cross-Roller Guide / Side-Mount Fine Pitch Positioner

Yy
Model Number

o[22 H4
Mirror Model Number 32

El0|= Afo|=
Table Size

TO0mmX70mm

EESNlle®

70| 4

Guide Mechanism

3 el
Angular Range

3 AL
Work Distance

T0mm=0.2mm

HY 32AE2 70|
Cross-Roller Guide

=3y

96mm=0.2mm

TO0mm=0.4mm

W 3 EE
Rotation Center Error

©0.05mm/+3°

@®0.1mm/£3°

A& Al
Minimum Readout

by
Angular Motion

ZE~0.0069°/=2, 015 ~0.00034° /=2
Coarse~ 0.0069°/div, Fine % 0.00034°/div

Z&~0.0053°/£3, 015 ~0.00026° /=3
Coarse = 0.0053°/div, Fine = 0.00026°/div

Z5=(.006% /=3, 015 ~0.00034°/=3 (S3T)
25 20.0053 /=3, 015 ~0.00026°/=3 (S3M)
Coarse = 0.0069°/div, Fine & 0.00034°/div(S3T)
Coarse =20.0053°/div, Fine 220.00026° /div(S3M)

ZHE 315
Moment Load Stiffness 33

0.09 arcsec/N+-cm

0.28 arcsec/N+-cm

LS
Load Capacity (Horizontal)

49N (Skgf)

44.1N (4.5kgf)

HE
Material

F0l5 g3
Aluminum Alloy

o

Finish

24
Weight

0.52kg

A op
Clear-Matt Anodizing

1.04kg

T
Actuator

HY XM FPP03-13(13mm)
Fine Pitch Positioner FPP03-13 (13mm)

712
Price(JPY)

¥108,000

¥216,000

QU E IS x4
Overhaul Price

¥24,000 ~

¥48,000 ~

S22 mEH|

Clean Room Lubricant Change Price #5

¥18,000

¥36,000

ZZae|A ag|

Vacuum Lubricant Change Price #6

#1 STOTA-S3S-CLi= STO7A-S3T-CL2t STOTA-S3M-CLO| ZEehgiuct.

Combination of SHO3B-DT and SH03B-DM form 2-axes swivel stage

model SH03B-DS.

¥18,000

¥36,000

© AHA2[0ll 2ol A= O-001HIOIX|S EHZEHFM K.

Refer to page 0-001 for information on accessory.

O 2ol 3|YstAl= HMEMNEE 2HsELIch

%2

%3

w4

%5

#6

HEDY, 0/ 28, Zgol 2 ME G-004H|0|X|S EHZHFM L.

Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.

224 AH|O|X| Chy|(BE8)2| RAUE SIF2 & ZYYLIch

Moment Stiffness of single Swivel stage is measured in Roll Direction.
SHE H| 0| RS Eds o ZEYULCH HMHE A2 150X
HAZHFAH L. (00|22 0|H S 2HE ci 40| obgL|ct.)

Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.

S202|A A2 AW Zoj “-C"7F B&Lch A4E A2 C-003H0IX|IS
HZEHFHR. 22|2 2R AHO|X| 242 HsEL CH

Clean room lubricant model has “-C” at the end of model number.
Page C-003 for further information.
TZaalA A2 gAY Zoj| “v'oF BgLch AAEt 22 C-003H0|XIS
HZHFHR. 22| e AEO|X| 2HC 7HsELICH

Vacuum lubricant model has “-V” at the end of model number. Page
C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

AN AR FYRE 2AFHIL.

We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

+53
AH|0| x|

Manual
tage

X-XY
X+XY

|
Rotation

NN

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-029



AAEHE

System
Products

g
Industrial

HEg
Experi-

s
Rotation

X+ XY
X+ XY

NN

o™
Rotation

A4
(nLe)
Swivel
(Tilt)

HafQIHE
AH|0|X|
XY8

Tz
AH|0|x]|
Vacuum
Stage

HoAZA|
Control
Electron-
ics

2
HESY
Motor
Controller

catol
gfA
Driver
Box

oj52|
Aol
Applica-

tion

2
Eajoly
MotorDriver

ZE3H0lE
Motor
Cable

=& 29[¥W(AL|2) AE|O|X] / El|O]Z AO|Z= 70X T0
Manual Swivel (Tilt) Stages / Table Size 70 X 70

STO7A-CIT | STO7A-CIB |

STO7A-C1M

STO7A-C1S

STO7A-C1L

© 5 Depth 7mm
g / M3 Depth 6mm Clamp ¢©15
' [~ 4-M4 Depth 5mm
| 4 "
- /Mlcrometer Head
[=ll=ll=]
~| <tm H
b .
11| [Tl o
n 30
=l 40
60
70 (70)
(\Rotatlon Center Rotation Center T\ Rotation Center
o
~
©
(=]
§
©® Bxonz © p
Q E{f . i LS |
i_ 60 g' © @ BKoHZU @ g
4-for M4 screws ~ fw
@ STO7A-C1T Shaft Length 4mm e ] = — —- o
Oeo : EKOHZU )
"\ ° 4for M4 screws & OV | , e
@ STO7A-C1M Shaft Length Smm : e
60 5
70 (70) -~ L80__A\s 4-for M4 screws
_ Clamp ¢ 15 @ ST07A-C1B Shaft Length 5mm
w0y
N = E =
64} e + < ° o]
Lt Tl
2 P W H =
i i @)
\Micrometer Head )
=)
=
i T
"Rotation Center ' Rotation Center
o
~
(]
(2]
©
o~
© @ BKoHZU @
| © » »
I R T e
60 " 4for M4 screws  — -
L 1" Shaft Length 5mm Q [A0) @ O O
@ STO7A-C1S i /i -
-for M4 screws
@ sTo7A.CAL LJeo Shaft Length 5mm

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



%20|5 / IR AE2| 70| / 00| I20|E| ME| B4

Aluminum Body / Cross-Roller Guide / Center-Mount Micrometer

kL)
Model Number

o2 H4
Mirror Model Number 33

EH|OI= Afo|=
Table Size

T70mmX70mm

EESNlle®

7to|= 4

Guide Mechanism

3|H el
Angular Range

3 ClARA
Work Distance

T0mm=0.2mm

96mm=0.2mm

HY 32AS J10|E
Cross-Roller Guide

=33

122mm=*0.2mm

70mm=0.4mm

96mm=0.4mm

3H Y HeY
Rotation Center Error

©0.05mm)/+3°

®©0.1mm/+3°

A4 HA

Minimum Readout

0.1° (HU o)

0.1° (vernier)

3|52t
Angular Motion

~0.0066°/=3
~20.0066°/div

~0.0055°/ ==
~0.0055°/div

~0.0041°/=3
220.0041°/div

~(.0066°/ =3 (C1T)

~0.0055°/&=2 (C1M)
220.0066°/div (C1T)
220.0055°/div (C1M)

20.0055°/ =2 (C1M)
~0.0041°/&=2 (C1B)
20.0055°/div (C1M)
220.0041°/div (C1B)

SHE 315
Moment Load Stiffness #4

0.09 arcsec/N+cm

0.28 arcsec/N+-cm

Load Capacity (Horizontal)

R 49N (Skgf)

44.1N (4.5kgf)

THE
Material

R0l5 3
Aluminum Alloy

oR

Finish

24
L 0.52kg

S opZt
Clear-Matt Anodizing

1.04kg

7YY
Actuator

oto|2 20|E #HE (25mm)
Micrometer (25mm)

712
e ¥72,000

¥144,000

2B HIE x5

Overhaul Price L

¥48,000 ~

S22 BEH|
Clean Room Lubricant ¥18,000
Change Price #6

FZaeA Qg
Vacuum Lubricant ¥18,000
Change Price 37

¥36,000

¥36,000

#1

%2

%3

54

%5

6

T

STO7A-C1SE STOTA-C1T2} STOTA-CIMQ| Z=&rgiLct.

Combination of SHO5B-RT and SHO5B-RM form 2-axes swivel stage
model SHO5B-RS.

STOTA-C1L2 STOTA-C1Mz} STO7A-C1B| EELct.

Combination of SHO5B-RM and SHO5B-RB form 2-axes swivel stage
model SHO5B-RL.

HEDY, /22 d, Tl HeiM= G-004H0|X|S AEHFM L.

Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.

A9 A0 x| Thyl(B8E8)0| U E SHF2 5 ZMYULIch

Moment Stiffness of single Swivel stage is measured in Roll Direction.
QHE HE0 nELFH = oYL ct. At A2 15H0IX S
HZHFHR. (0102 20|H HEE LHE chAo| obdL|ct)

Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.
S202lA Atk gAY Zoj| “-C"7F B4Lich Ahet A2 C-003H0|X|IS
EHFAL.

Clean room lubricant model has “-C” at the end of model number.
Page C-003 for further information.
TZ02|A A2 @AY B “v'7t 24t A4et 22 C-003H0|XIE
HZAHFMR.

Vacuum lubricant model has “-V” at the end of model number. Page
C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

O YHAM2(0l 2= 0-001H|0|X| S & EHFM L.
Refer to page 0-001 for information on accessory.

O 20| 3| YstAlE HMEMNEE JHsELICh
AN A2 GUEZ BOFAHR.

We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

+53
AH|0| x|

Manual
tage

X-XY
X+XY

|
Rotation

NN

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-031



LA

Industrial

s
Rotation

X+ XY
X+ XY

o™
Rotation

A4
(ae)
Swivel
(Tilt)

dajelHE
AH|0|X|
XY

Tz
AH|0|X|
Vacuum
Stage

HO{EH|
Control
Electron-
1cs

2
HESY
Motor
Controller

Eajo|ey
gfA
Driver
Box

oj=2|
Aol

Applica-
tion

2E
Eatoly
MotorDriver

ZEjFH0IZ

Accessories

HAA A
Inspection
System

G-032

25 4ty 2% AQH(1L|) AH|O|X| / E[O]Z ALO|= 70X 70
Manual 2-Axes Thin Swivel (Tilt) Stage / Table Size 70X 70

STO7A-S1W
@ STO7A-S1W
Clamp ¢8
25 70 (44.3) (Top Axis)
60
40
" Clamp 98
A .30 . (Bottom Axis)
©
- m
7
+
/ ©
Bl aas &
oL
®
0l o
ol &
= | | =
I Micrometer Head/ ,l’ Micrometer Head
10.5 (Bottom Axis) | | / 8M3 Depth 5mm (Top Axis)
/ 18 Thru
|4-M4 Depth 5mm Minimum Valid Size ¢13)

! \ Rotation Center

70

|
|
|
|
I

@
]
\

) "" ﬂ

0 60 T

S4EQ HFLAZ FFELch
Mounting by low head screw (attachment).

4-for M4 screws
Shaft Length 2mm

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



ot20|s [ IZAER 710|C / OI0|Z0|E| AFO|= Xkt

Aluminum Body / Cross-Roller Guide / Side-Mount Micrometer

4 0
Model Number
o2 H4
Mirror Model Number
ElOlE AO|=
Table Size 70mm X70mm
70| 4 HY 32A52 710|E
Guide Mechanism Cross-Roller Guide
3 el o
Angular Range E=d
3 AL
Work Distance T0mm=0.4mm
3H S HAY o
Rotation Center Error $0.05mm/+:3
A& EAl —
Minimum Readout
3™z} ~0.007°/=2 (&%) =0.0066°/=3 (t=)
Angular Motion #0.007°/div (top) = 0.0066°/div (bottom)
HRIE 3t
Moment Load Stiffness 0.71 arcsec/N+cm
SEUSHE
Load Capacity (Horizontal) 48N (Skeh
HE U205 B3
Material Aluminum Alloy
opg S opzf
Finish Clear-Matt Anodizing
224
Weight 0.51kg
ey 00| 2 20|E FHE (13mm)
Actuator Micrometer (13mm)
712
Price(JPY) ¥150,000
H|E H|8 1 ~
Overhaul Price ¥48,000
Sea2|A ag|
Clean Room Lubricant Change Price 3#2 el
32|12 g
Vacuum Lubricant Change Price #3 el
#1 QHE HE0 2P Hs oEgduch 4MT A2 15H0(X & O YAHM2[0l A= 0-001H|0|X|S B ESHFH 2.
HZEHFHR. (0t0] 220/E FEE 2HE 40| OFLct) Refer to page 0-001 for information on accessory.
Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information (Micrometer is not included in the O 10| E YA = HEMEL JHsELCh
overhaul). AN A2 EYUEE BAFAMR.

#2 BTUI2A ANY2 FAH B “-C"7t B&Lch HME 22 C-003HOIXIE

HAZAHFHR.

We appreciate the product customizing. Contact us for further information.

Clean room lubricant model has “-C” at the end of model number.

Page C-003 for further information.

#3 TUZ23|A A2 A Boj| "V 2&Lch 443 A2 C-003H0|XIE

HEHFHL.

Vacuum lubricant model has “-V” at the end of model number. Page

C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

EESNlle®

LA
Industrial

dyg
Experi-
mental

+53
AH|0| x|

Manual
tage

X-XY
X+XY

|
Rotation

NN

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-033



+& A9IH(L|2) AEH|O|X] / H|O|Z AHO|= 100X 100
Manual Swivel (Tilt) Stages / Table Size 100X 100

AARHE

System
Products

LA

Industrial

48

SH10A-RT SH10A-RB SH10A-RS
SH10A-RM SH10A-RL

3H
Rotation o) ®6 Depth 8mm
3 8-M3 Depth 6mm Clamp ®15

Lo &M4 Depth 6mm

°} Handle ®28
‘e y
*

S

asdY
AH|0|X|
Motorized
Stage

—
4
Lo

1] ]
F 78
Ho®O\ [ /©o

X+ XY
X+ XY

(0.5)
388

L 90 d
(19.5) 100 (34)

T\ Rotation Center ' Rotation Center ] _‘( Rotation Center
-

Rotation 9 ‘

NN

134

A4
(aUe) 1
Swivel
(Tilt) &

172

1T
145

@

g

g

(-]
14.7

L
Aol 4-for M4 screws oo |
;Ygl°|fl Shaft Length 6mm ] 00 PO ST T

=l © SH10A-RT 4-for M4 screws J90

3 ! ]
Aol Shaft Length 6mm 8 m-:-” sy
S::;: - @ SH10A-RM 4-for M4 screws / 090

Shaft Length 6mm
Clamp ®15 E @ SH10A-RB
Al —

Handle ©28 L]

]
=

&

E-]

]
14.7

L

(34)

o
|
9o
o

2
HESY
Motor
Controller

iilolﬂl q ° ®
Driver
Box

90

100

j,H‘

0l®

(19.5)

gi'o'-'l'?;!l (19.5) 100 (34)

Applica- "} . B .
tion \Rotation Center ', Rotation Center

2
Eajoly 9
MotorDriver

134

ZE3H0lE
i
= e e o

gz . ———— —_ f L EROHZU @

fopend g;. % °© \ @o_Lw g: % i
9 ?Pa 8|77 T

J90 4-for M4 screws
- - Shaft Length 6mm

@ SH10A-RS

4-for M4 screws
Shaft Length 6mm

@ SH10A-RL

G-034 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



U205 /[ ARAED 710|E / EH&EE
Aluminum Body / Cross-Roller Guide / Worm and Worm Wheel

EESNlle®

LA
Industrial
4 0A-R 0A-R 0A-RB 0A-R 0A-R
Model Number
0j2 28 B4 OARTR oA RMLR JARER JARS.RRR JA-RL.RRR dus
; o Experi-
Mirror Model Number 33 P
B0l Ajol= mer
Table Size 100mm X 100mm Py
710|= U HY 32AS 70|E 2E|0| x|
Guide Mechanism Cross-Roller Guide Pvggte'al
S8 e +10° +g° +10° +10°(RM), +8°(RE)
Angular Range X-XY
AEA .
#3 C2E2 95mm=£0.2mm 134mm=0.2mm 172mm=0.2mm 95mm=£0.4mm 134mm=0.4mm X
Work Distance
3H B4 wslz 1o e - .
e D e @0.05mm/=£ 10 ©0.05mm/x8 ®0.1mm/x 10 ©0.1mm/E8 z
22 BA 0.1°(L]of) z
Minimum Readout 0.1° (vernier)
LsaE 1Egn | OSREISEED s
foibiEdy 1.125°/4S 1818 0.84°/8S 13/H 0.67°/8S 13/H 0.84°/ S 13| (RM) 18175 (RB) 0,847 Handle Rotation
Angular Motion 1.125°/Handle Revolution | 0.84°/Handle Revolution | 0.67°/Handle Revolution | 1.125°/Handle Revolution (RT) ‘R_evoluti;m (RM)
0.84°/Handle Revolution (RM) | ; ¢ 1121 gle Revolution (RB)
SE 315 . -
Moment Load Stiff %4 0.02 arcsec/N-cm 0.06 arcsec/N-cm
st
Load Capaclty (Horizontal) 68.6N (Tkgf) 49N (Skgf)
M 2oE €3
Material Aluminum Alloy
oFz WA otz
Finish Clear-Matt Anodizing Xe XY
29 XeXY
Weight 1.7kg 3.4kg
TS s
Actuator Handle-Wheel %
e
Price(JPY) ¥150,000 ¥170,000 ¥300,000 ¥320,000
Q{E H|8 x5
5 ¥24,000 ~ ¥48,000 ~ 3H
Overhaul Price Rotation
22| ag|
Clean Room Lubricant ¥18,000 ¥36,000 A
Change Price 36 (T Q)
ZZa2|A 2E| Swivel
Vacuum Lubricant ¥18,000 ¥36,000 (Tilt)
Change Price #7 AatolE
AHO|X|
#1 SH10A-RSE SH10A-RTS SH10A-RM2| Zgh@iLict. O YAHAM2[ol A= 0-001H|0|X|S & EHFMH K. XY
Combination of SHO5B-RT and SHO5B-RM form 2-axes swivel stage Refer to page 0-001 for information on accessory.
model SHO5B-RS.
%2 SH10A-RLE SH10A-RM2t SH10A-RBS| ZgfQlLict. © 2ol 2AYshAl= BHZE hsELIc
[=1 =
Combination of SH058-RM and SH05B-RB form 2-axes swivel stage NP ALE BURE BOFAR. : .
model SHO5B-RL. We appreciate the product customizing. Contact us for further information.
%3 HEDY, 0229, Teh| eiME G-004H0|X|S AEHFM L.
Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.
#4 A AHO|X| Thil(BEE8)0| FAUE SHF2 S ZMYULICH =1
Moment Stiffness of single Swivel stage is measured in Roll Direction. HEEY
#5  QUHE HIS0|| gt Ed|= 0| ZHYLICH 44T 22 15H0IX|S AEHFAR. g‘“‘t” 1
Additional parts cost is not included on Overhaul cost. Refer to page ontrofier
16 for further information. cajoly
w6 SIAA AL FAY Bof| “-C"7t B&LIch MM T A2 C-003H|0|XIS uA
HZHFEAR. Driver Box
Clean room lubricant model has “-C” at the end of model number.
Page C-003 for further information. WEE]
HT DDA AL WA Boj V"7t BaLICH ANE 2 C-003H0IXIS Aloid
AXHEHQ. Application
Vacuum lubricant model has “-V” at the end of model number. Page o
C-003 for further information. Sajojyy
Motor
Driver
2F
#Holg
Motor
Cable
g5
Appendix
22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp G-035



e 5 A9 (L) AH[O|X] / H|O|& AHO|= 130X 130
o Manual Swivel (Tilt) Stages / Table Size 130X 130

g
Industrial

uys

SH13A-RT
SH13A-RM
3™
Rotation
) @8 Depth 10mm
@ SH13A-RT/RM | 8M3 Depth 8mm
/" 8M4 Depth 10mm Clamp 925
5 }." [ M5 Depth 10mm
i . by Handle ©40
EEEEER I
X-XY - =
xx 3 R
i =it
. _ e e
z < _ﬁJ
40
60
8 90 '_Rotation Center
Rotation 110 &
(23) 130 (43)
m
A9y =
(51::414%) lk Rotation Center
ive
(Tilt) g T
dajolnie ==
Xeoix| o 2 ° kv Mmoo o 4° | R
XY8 i) i : : Im ) % {
4-for M5 screws J110 - 4-or M5 screws /| 110 !
ShaftLength 6mm ~— ° Shaft Length 6mm
@ SH13A-RT @ SH13ARM
~ Clamp 25 E
g Jr: o) o DL
| T11 [_ |
2E | & & L
HES2] + + Handle ®40 b
Motor . o VA 0 =
Controller - | & : =
o 8 =
Eatoly 3 @ . =
Driver + + Lo} =3
Box + + ° fp
Ao @ = - “ T
red o
Applica- 8 IEEE
tion
o (23) 130 (43)
Eatoly
MotorDriver
" Rotation Center
(=]
ZEFH 0|2 S
Motor
Cable a SIRoRzU o
B .
e it 9|
8

4-for M5 screws
0110 Shaft Length 6mm

@ SH13A-RS

sy
on
System

G-036 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



U205 /[ ARAED 710|E / EH&EE
Aluminum Body / Cross-Roller Guide / Worm and Worm Wheel

EESNlle®

AUAE
A Industrial
Model Number i X 8
[EEEEL oT R o e Hag
Mirror Model Number 32 fn"s:t':l
H|O|= Afo|=
Table Size 130mmx130mm P
7Ho|= g4 HY 32AE2 0| 2E|0| x|
Guide Mechanism Cross-Roller Guide Mtﬁ1 l;teml
31H el o =
Angular Range =l XeXY
#3 gARA XeXY
Work Distance 120mm=0.5mm 173mm=0.5mm 120mm=1mm
W S EE o o
R Ly sl < ®0.05mm/=£10 ®0.1mm/£10 z
3|4 2N 0.1° (#{L]of) Z
Minimum Readout 0.1°(vernier)
1255 1318 RT) -
[zt 1.25°/#S 13 0.9°/#s 18/H 0.9°/#S 12| (RM) R ot
Angular Motion 1.25°/Handle Revolution 0.9°/Handle Revolution 1.25°/Handle Revolution (RT) ELE
0.9°/Handle Revolution (RM)
SRIE 315
Moment Load Stiffness 53 0.02 arcsec/N-cm 0.06 arcsec/N-cm
SHsHS
Load Capacity (Horizontal) 98N (10kgf) 58.8N (6kgf)
HE 20|53
Material Aluminum Alloy
oy oA op2f
Finish ) Clear-Matt Anodizing )
23 X=Xy
Weight 3.6kg 4kg T.6kg XeXY
TS Hs
Actuator Handle-Wheel
7H2 ¥290,000 ¥580,000 %
Price(JPY) 2 2
U E |8 x4 o ~
Overhaul Price ¥30,000 ¥60,000 .
Sae|A 2| Rotation
Clean Room Lubricant Change Price 35 ¥24,000 ¥48,000
pm I ESmE ) Agd
Vacuum Lubricant Change Price 6 e 45,000 (j—f‘lg)
. 8 Swivel
(Tilt)
#1 SH13A-RSE SH13A-RTS SH13A-RM2| Zgh@iLct, O YHAM2(0l| i E= 0-001H|0|X| S & ESHFM L. daloIHE

Combination of SHO3B-DT and SH03B-DM form 2-axes swivel stage Refer to page 0-001 for information on accessory. Xe0]
model SH03B-DS. il
#2 EEDY, 0228, Fehof BHAE G-004HOIXIS HEHFHL. © 2ol YAl MEHZE hsLIc

i i AMet A2 FULE BAFHL.
ggfégtzrzii%;\(;w for Information on Standard and Mirror Symmetry We appreciate the product customizing. Contact us for further information.

#3 A9 AH|0|X| Chi|(BER8)0| RRUE StE2 S ZAUch
Moment Stiffness of single Swivel stage is measured in Roll Direction.
4 QUE 20| 2P Ed s o) ZHYL|CL HAEt A2 1500|X|S HENFLR.
Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.

#5 2UD2|A AY2 HAY 2o “-C"7t B&Lch AME A2 C-003HO|X|E
AES= QE
Clean room lubricant model has “-C” at the end of model number. Toon
Page C-003 for further information. Controller

w6 TZa2|A A2 A Bof| V7t 2&Lch A4 A2 C-003H0|XIE calo
HZHFMR. :i} 184
Vacuum lubricant model has “-V” at the end of model number. Page Bt._ B
C-003 for further information. riversox

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp G-037



& A9IH(1L|2) AE|O|X] / H|O|Z AMO| = 160 X160
Manual Swivel (Tilt) Stages/ Table Size 160X 160

AARHE

System
Products

g
Industrial

.3'
)

uys

CCETE ERTI

y

SH16A-RT SH16A-RS
SH16A-RM

s
Rotation

8 Depth 8mm
($8 Depth Smm.
@ SH16A-RT/RM |/ 8M3 Depth 6mm
% /| 8M4 Depth 8mm
3 || ¥ Dapth smm Clamp ©25
_ 5/ /_ |/ 45 Depth 10mm
| B | 4
—*, ’ / »/1 Handle ®40
4 A |
=il !
G EE T | e a—
X=Xy = | im
XeXY |
. +
. LT
z g 30
z L 40
60
90
L 110
Rotation 140
(32) 160 (40)
ate) e
Swivel \Rotation Center Rotation Center
(Tilt) N
atolnie § o
Ag|0]x| &
XY8
o L o n
8 o] =
st | :
afor M5 sorews /| (1140 |- o . ety i
SafLenghGom ) %ﬁ“w‘ Ly
@ SH16ART 4-for M5 screws L [J140
Shaft Length 6mm
2E @ SH16A-RM
HESY
Motor ~F Clamp ®25 0
Controller g ‘ Eﬁﬂ:
Eajoley ' B 5
l;:i:er 1% o Handle ®40
+ + |
Box oo _] ]‘li
0|2 § ‘Eﬂ . g
#Hold p’ * °n
Applica- . +
tion q + +
| ° 4
2E & .
CSajo o,
MotorDriver
B2 | 160 _(a0)|
ZEFH 0|2
Motor ¥
Cable § l_\ Rotation Center
I ° exau o
(=]
“’I Eﬁjww;%
o
e jil
L hiid
140 4-for M5 screws
- Shaft Length 6mm
@ SH16ARS

g
spection
System

G-038 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



U205 /[ ARAED 710|E / EH&EE
Aluminum Body / Cross-Roller Guide / Worm and Worm Wheel

kL)
Model Number

o2 H4
Mirror Model Number 2

E|OI= Afo| =
Table Size

160mmx160mm

EESNlle®

7to|= 24

Guide Mechanism

3|H el
Angular Range

3 ClARA
Work Distance

HY 32AE2 0|
Cross-Roller Guide

+10°

220mm=0.5mm 280mm=0.5mm

220mm=*1mm

W S EE
Rotation Center Error

®0.5mm/+10°

®1lmm/£10°

A4 HA
Minimum Readout

0.1° (e{L{of)

0.1°(vernier)

58
Angular Motion

0.6°5/#S 18/H
0.6°/Handle Revolution

0.705°/#E 13|H
0.705°/Handle Revolution

0.705°/#S 12|H (RT)
0.6°/#S 12| (RM)
0.705°/Handle Revolution (RT)
0.6°/Handle Revolution (RM)

SRIE 315
Moment Load Stiffness 33

0.02 arcsec/N+cm

0.06 arcsec/N+-cm

LS
Load Capacity (Horizontal)

196N (20kgf)

147N (15kgf)

HE
Material

F0lE g3
Aluminum Alloy

oR

Finish

23
Weight

A opzt
Clear-Matt Anodizing

5.2kg 4.5kg

9.7kg

544
Actuator

WS
Handle-Wheel

712
Price(JPY)

¥400,000

¥800,000

U E |8 x4
Overhaul Price

¥36,000 ~

¥72,000 ~

- mCESmE L]
Clean Room Lubricant Change Price 35

¥24,000

¥48,000

B2 A @EH|

Vacuum Lubricant Change Price #6 |

¥24,000

¥48,000

#1

%2

%3

w4

%5

%6

SH16A-RSE SH16A-RTS SH16A-RM2| ZghRiL|ct,

Combination of SHO3B-DT and SH03B-DM form 2-axes swivel stage
model SHO3B-DS.

HEDY, 0] 2, Tl 2eiA= G-00400|X|S HEHFM L.

Refer to page G-004 for Information on Standard and Mirror Symmetry
Configuration.

224 A|O|X| Chy|(BE8)2| RAUE SIE2 & ZYYLIch

Moment Stiffness of single Swivel stage is measured in Roll Direction.
QUHE HIZ0|| mEtREH|= o) ZEALICE HAEt 22 15HOIX|S HEHFHL.
Additional parts cost is not included on Overhaul cost. Refer to page
16 for further information.

S22 A A2 AW Zoj “-C"7t Bt AN 22 C-003H0IX|S
HEHFHIR.

Clean room lubricant model has “-C” at the end of model number.
Page C-003 for further information.

ZZoalA A2 FAY 2o "7t BgLch AMB 242 C-003H0|XIS
HEHFMR.

Vacuum lubricant model has “-V” at the end of model number. Page
C-003 for further information.

22|= *TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

© YAHAM2[0l A= 0-001H|0|XIS & EHFMH K.
Refer to page 0-001 for information on accessory.

O 20| 3| YstAlE HMENEE JHsELICh
AN A2 EUEZ BOAFAHL.

We appreciate the product customizing. Contact us for further information.

LA
Industrial

dyg
Experi-
mental

+53
AH|0| x|

Manual
tage

X-XY
X+XY

|
Rotation

NN

H
Rotation

A
(3AL|2)
Swivel
(Tilt)

HafelHE
Ag|0] x|
X8

SE]
HEEY
Motor
Controller

cajoj
gtA
Driver Box

=2
#Ho|A
Application

SE]
Cajoliy
Motor
Driver

2E
#Holg
Motor
Cable

Ll
Appendix

G-039



LY
Industrial

H4yE
Experi-
mental

X-XY
X=XY

NN

k]

Rotation

A9y
(3'-?'49)
Swivel
(Titt)

08
2%

NN

-
Rotation

2904
(nU2)
Swivel
(Tilt)

Y2RIHE
2E[0[x|
Xy8

2
ZHESY
Motor
Controller

== -]
gfA
Driver
Box
0{=2|
#l0]:
Applica-

tion

2
Cajoly

MotorDriver

ZEFH0|E
Motor
Cable

S
Appendix

G-040

£5 AQIH(TL|R) AH|O|X] Y2t
Manual Swivel (Tilt) Stages List

LS

. H0l Afo] = s el §3 CABA Rt kG 22 molx|
odel Number Table Size Angular Range Work Distance (Horizontal) Price(JPY) Page
SH03B-DT 30mmx30mm +10° 30mm=+0.1mm 9.8N (Lkgf) 01kg | ¥45000 | G-008~G-009
SHO3B-DM | 30mmx30mm +10° aamm=0.1mm | 9.8N(lkgf) Olkg | ¥45000 | G-008~G-009
SH03B-DS (Qaxis) | 30mmx30mm +10° 30mm=+0.2mm 9.8N (Lkgf) 02kg | ¥90,000 | G-008~G-009
SHO4B-RT | 40mm>x40mm +10° 40mm+02mm | 196N (2kg) 025kg | ¥105000 | G010~G-011
SHO4B-RM 40mmX40mm +10° 57mm=£0.2mm 19.6N (2kgf) 0.25kg | ¥105000 | G-010~G-011
SHO4B-RS (2axis) | 40mm>x40mm +10° 40mm*0.4mm | 196N (2kg) 05kg | ¥10000 | G010~G-011
STO4A-S1T 40mmx40mm +3° 40mm=+0.2mm 19.6N (2kgf) 0.14kg | ¥70000 | G-012~G-013
STO4A-SIM | 40mmx40mm +3 5Tmm*02mm | 19.6N (2kg) 0Mkg | ¥0000 | GOI2~GO13
STO4A-S1S (2axis) | 40mmX40mm +3° 40mm=+0.4mm 19.6N (2kgf) 0.28kg | ¥140000 | G-012~G-013
STO4A-CLT | 40mm>x40mm +3° 40mm+02mm | 196N (2kg) 012kg | ¥10000 | GO014~G015
STO4A-CIM 40mmx40mm +3° 57mm=+0.2mm 19.6N (2kgf) 0.12kg | ¥70,000 | G-014~G-015
ST04A-C1S (2axis) | 40mm>x40mm +3° 40mm+04mm | 196N (2kg) 024kg | ¥140000 | G014~G015
SHO5B-RT 50mm X 50mm +10° 50mm=0.2mm 20.4N (3kgf) 0.36kg | ¥85000 | G-016~G-017
SHO5B-RM | 50mm>x50mm +10° 68mm+02mm | 294N (3kgf) 036kg | ¥85000 | G016~G-017
SHO5B-RB 50mm X 50mm +8° 86mm=-0.2mm 29.4N (3kgf) 0.36kg | ¥85,000 | G-016~G-017
SHO5B-RS (axis) | 50mmx50mm +10° Somm:04mm | 245N (25kgf) | O0T2kg | ¥70,000 | G-016~G-017
SHO5B-RL (Qaxis) | 50mmXx50mm +10°(RM), &(RB) | 68mmz0.4mm | 245N (2.5kgf) 0.72kg | ¥170,000 | G-016~G-017
STO5A-S1T | 50mmx50mm +3 50mm:02mm |  29.4N (3kgf) 021kg | ¥70,000 G-018~G-019
STO5A-SIM 50mm X 50mm +3° 68mm=:0.2mm 29.4N (3kgf) 02lkg | ¥70,000 | G-018~G-019
STO5A-S1B | 50mmx50mm +3 86mm+02mm | 294N (3kgf) 021kg | ¥10000 | GO018~G-019
STOSA-S1S Qaxis) | 50mmx50mm +3° 50mm=0.4mm 29.4N (3kgf) 042kg | ¥140000 | G-018~G-019
STOSA-SIL (2axis) | 50mmx50mm +3 68mm+0.4mm |  20.4N (3kgf) 0.42kg | ¥140,000 | G-018~G-019
STOSA-S3T-CL 50mm X 50mm +3° 50mm=+0.2mm 20.4N (3kgf) 02lkg | ¥106000 | G-020~G-021
STOSA-S3M-CL | 50mmx50mm +3 68mm+02mm | 294N (3kgf) 02lkg | ¥106000 | G-020~G-021
STO5A-S35-CL  (2axis) | 50mmX50mm +3° 50mm=:0.4mm 29.4N (3kgf) 042kg | ¥212000 | G-020~G-021
STOSA-CLT | sommx50mm +3° 50mm*02mm | 29.4N (3kg) 02lkg | ¥0000 | G022~G023
STOSA-CIM 50mm X 50mm +3° 68mm=:0.2mm 29.4N (3kgf) 02lkg | ¥70000 | G-022~G-023
STOSA-C1B | 50mmXx50mm +3° 86mm+02mm |  29.4N (3kgf) 021kg | ¥70,000 6-022~G-023
STO5A-C1S (2axis) | 50mmX50mm +3° 50mm=+0.4mm 20.4N (3kgf) 042kg | ¥140000 | G-022~G-023
STOSA-CIL (axis) | 50mmx50mm +3° 68mm+0.4mm |  20.4N (3kgf) 0.42kg | ¥140000 | G-022~G-023
SHOTA-RT 70mm X 70mm +10° 70mm=0.2mm 49N (Skgf) 05Tkg | ¥85000 | G-024~G-025
SHO7A-RM | 70mmx70mm +10° 96mm+02mm | 49N (Skg) 05Tkg | ¥85000 | G024~G-025
SHOTA-RB 70mmX70mm +8° 122mm=0.2mm 49N (Skef) 0.57kg | ¥85000 | G-024~G-025
SHOTA-RS (2axis) | 70mmx70mm +10° T0mm+0.4mm | 44.IN (4.5kgf) 114kg | ¥170,000 | G-024~G-025
SHOTA-RL Qaxis) | 70mmX70mm +10°(RM), £&(RB) | 96mmz0.4mm | 44.IN (4.5kgf) 114kg | ¥170,000 | G-024~G-025
STOTA-S1T | 70mmx70mm +3° Tomm+02mm | 49N (Skgf) 052kg | ¥72,000 G-026~G-027
STOTA-SIM 70mmX70mm +3° 96mm=:0.2mm 40N (Skgf) 0.52kg | ¥72000 | G-026~G-027
STOTA-S1B | 70mmx70mm +3 122mm02mm | 49N (kgf) 052kg | ¥12000 | G026~G-027
STOTA-S1S Qaxis) | TOmmX70mm +3° 70mm+0.4mm |  44.IN (4.5kgf) 1.0dkg | ¥144,000 |  G-026~G-027
STOTA-SIL Qaxis) | 70mmx70mm +3 96mm:+0.4mm | 44.IN (4.5kgf) L0dkg | ¥144000 |  G-026~G-027
STOTA-S3T-CL 70mmX70mm +3° 70mm=0.2mm 49N (Skgf) 0.52kg | ¥108000 | G-028~G-029
STO7A-S3M-CL | 70mmx70mm +3 96mm+02mm | 49N (Skgf) 052kg | ¥108000 | G-028~G-029
STO7A-S35-CL 70mmX70mm +3° 70mm+04mm | 44.IN (4.5kgf) 104kg | ¥216000 | G-028~G-029
STO7A-CLT | 70mmx70mm +3° Tomm+02mm | 49N (Skgf) 052kg | ¥12000 | G-030~G-031
STOTA-CIM 70mmX70mm +3° 96mm=:0.2mm 40N (Skgf) 0.52kg | ¥72000 | G-030~G-031
STO7A-C1B | 70mmx70mm +3° 122mm+02mm | 40N (Skg) 052kg | ¥2000 | G-030~G031
STOTA-C1S (2axis) | T0mmX70mm +3° 70mm=04mm |  44.IN (4.5kgf) 1.0dkg | ¥144,000 | G-030~G-031
STOTA-CIL (2axis) | 70mmx70mm +3 96mm+0.4mm |  44.IN (4.5kgf) 104kg | ¥144000 | G-030~G-031
STOTA-SIW Qaxis) | TOmmX70mm +3° 70mm=0.4mm 40N (Skgf) 0.5lkg | ¥150,000 | G-032~G-033
SHI0ART | 100mm> 100mm +10° 95mm+02mm |  68.6N (Tkgf) LTkg | ¥150,000 | G034~G-035
SH10A-RM 100mm X 100mm +10° 13¢mm+02mm |  68.6N (Tkgf) 17kg | ¥150,000 | G-034~G-035
SH10A-RB | 100mmx 100mm +g 172mm+02mm | 686N (Tkef) LTkg | ¥170000 | G-034~G-035
SH10A-RS (2axis) | 100mmx 100mm +10° 95mm=:0.4mm 40N (Skef) 34kg | ¥300,000 | G-034~G-035
SH10A-RL (2axis) | 100mmx100mm | +10°(RM), £8°RB) | 134mm+04mm | 49N (Skgf) 34kg | ¥320000 | G-034~G-035
SH13A-RT 130mmx 130mm +10° 120mm=0.5mm 98N (10kgf) 36kg | ¥290,000 | G-036~G-037
SH13A-RM | 130mmx130mm +10° 173mm0.5mm | 98N (10kg) akg | ¥290000 | G036~G-037
SH13A-RS (2axis) | 130mmX130mm +10° 120mmz1mm 58.8N (6kgf) 76kg | ¥580,000 | G-036~G-037
SH16A-RT | 160mm > 160mm +10° 220mm+05mm | 196N (20kgf) 52kg | ¥400000 | G-038~G-039
SH16A-RM 160mmX 160mm +10° 280mm+05mm | 196N (20kgf) 45kg | ¥400,000 | G-038~G-039
SH16A-RS (axis) | 160mm>x160mm +10° 220mmtlmm | 147N (15kgf) o07kg | ¥800000 | G-038~G-039

¥ 0[2IY YAR yekstsL o
Mirror Model Number is omitted

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com




